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I. Indian Geography
 General Introduction

i. Area
*India is the seventh-largest country in terms of area after
Russia, Canada, USA, China, Brazil and Australia
respectively. India has 28 states and 8 Union territories. Its
total area is about 3287263 sq. km. which is approximately
2.4% of the world's total land surface.

*According to the census 2011, the world’s 17.5% population
lives in India. The latitudinal and longitudinal extent of India
is roughly about 30 degrees whereas the actual distance
measured from north to south extremity is 3214 km and that
from East to West is 2933 km. *As per the census 2001, there
were 6,38,588 villages in India, but after 2011 census the
number raised to 6,40,932. India’s territorial limit extends
towards the sea up to 12 nautical miles (about 22.2 km)
from the base line.

1. With reference to India, which of the following
statements (s) is/are correct?
1. India is the sixth largest country of the world.
2. India occupies about 2.4% of the total area of the

world.
3. Tropic of Cancer passes through the middle of the

country, dividing it into two latitudinal halves.
4. India lies completely in tropic zone.
Select the correct answer from the code given below:
Code :
(a) 2 and 4 (b) 1 and 2
(c) 2 and 3 (d) 3 and 4

U.P.P.C.S. (Pre) 2022
Ans. (c)

Area wise, India (3.28 million sq. km) is the seventh largest 
country of the world. India's total area accounts for about 
2.4 percent of the total geographical area of the world. Ly-
ing entirely on the Northern hemisphere the main land lies 
between latitudes 804'N and 3706'N and longitudes 6807'E 
and 97025' E. The Tropic of Cancer (23030'N) divides the 
country into almost two equal parts, thus one part lies in 
tropical zone while other in temperature zone.

2. Which of the following statements are true about India?
Use the code given below to select the correct answer:
1. India is the fi fth largest country in the world.
2. It occupies about 2.4 percent of the total area of

the lithosphere.
3. Whole of India lies in the torrid zone.
4. 82o30' East Meridian and hemishphere is used to

determine Indian Standard Time
Code :
(a) 1 and 2 (b) 2 and 3
(c) 1 and 3 (d) 2 and 4

U.P.P.C.S. (Mains) 2006
Ans. (d)

India is the seventh largest country after Russia, Canada,  
USA, China, Brazil and Australia respectively by area and 
the second largest by population. It occupies about 2.4 
percent of the total area of the land surface. The mainland 
of India extends between 8º4' North to 37º6' North latitudes, 
while the  tropical zone is stretched between 23º 30' north 
and south latitudes. Therefore statement 1 & 3 is incorrect. 
The latitudinal extension of the whole of India (including 
Andaman & Nicobar Islands) lies between 6º45' to 37º 6' 
North latitudes. 82º 30' East longitude is used to determine 
Indian Standard Time.

3. Where does India rank in the area among the countries
of the World?
(a) Fifth (b) Sixth
(c) Seventh (d) Eighth

Jharkhand P.C.S. (Pre) 2016
Ans. (c)

See the explanation of the above question.
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4. India is in size -
(a) Fifth largest country in the world
(b) Sixth largest country in the world
(c) Seventh largest country in the world
(d) None of the above

M.P.P.C.S. (Pre) 2010
Ans. (c)

See the explanation of the above question.

5. Area of India is 2.4% of the total area of the world but
its–
(a) population is 16% of the world population
(b) population is 17% of the world population
(c) population is 18% of the world population
(d) population is 28% of the world population

39th B.P.S.C. (Pre) 1994
Ans. (b)

As per Census 2001, area of India is 3287263 square km 
which is approximately 2.4% of the total land area of the 
world, whereas its total population is 16.7% (17.5% as per 
Census 2011) of the total population of the world. Hence 
option (b) is the closest answer.

6. How many villages are (approximately) there in India –
(a) 5 lakh (b) 6 lakh 30 thousand
(c) 8 lakh (d) None of these

M.P.P.C.S. (Pre) 2010
Ans. (d)

According to Census 2011, the total number of villages in 
India is 6,40,932. Thus option (d) is the correct answer.

7. Which of the following pair is not correctly matched?
(a) Total area of India - 3.28 million sq. km
(b) Latitudinal extent - 8o4' N - 37o6' N
(c) Longitudinal extent - 68o7' E - 97o25' E
(d) Number of states in India - 26

Jharkhand P.C.S. (Pre) 2016
Ans. (d)

The total area of India is 3.28 million sq. km. Its latitudinal 
extent is 8o4' N - 37o6' N and longitudinal extent is 68o7' E - 
97o25' E. There are 28 states and 8 union territories in India.

8. Which of the following statements about India is
incorrect?
(a) India is the 7th largest country in the world
(b) India is the second populous country of the world

(c) Its land boundary extends for around 15,200 km
(d) The earliest sunrise is seen in it's Mizoram State

U.P. R.O./A.R.O. (Mains) 2016
Ans. (d)

In 1999, it was learnt that 'Dong' (a village in Arunachal 
Pradesh), not Katchal Island in the Andamans. It was  widely 
believed experience earliest sunrise in the world. Dong is also 
the easternmost village in India's geography.

ii. Latitudinal & Longitudinal
Expansion

*Latitudes are the imaginary lines drawn by joining all the
points having similar angular distance on the earth’s surface,
measured in degrees from the centre of the earth. 0º latitude i.e
the equator, divides the earth into two equal parts. The equator
lies midways between the poles. All of these lines are parallel
to each other and are therefore called parallel of latitudes, and
on the globe are circles, becoming smaller pole wards. *North
and South poles are 90ºN and 90ºS latitudes respectively.
Between these points, lines of latitudes are drawn at intervals
of 1º. There are 89 parallels in northern hemisphere and 89 in
southern. So total number of parallels, including equator is 179
(89 + 89 + 1). North of the equator is called as the Northern
Hemisphere and South of the equator is known as Southern
Hemisphere. The distance between two consecutive latitudinal
lines is approximately 111 km.
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*The imaginary lines on the earth's surface joining the north
and south poles crossing the equator are known as longitudes.
Such lines are also called meridians. *Unlike the equator
which is centrally placed between the poles, any meridian
could have been taken to begin the numbering of longitude.
It was fi nally decided by an international agreement in 1884
that the Zero meridians will be the one which passes through
the Royal Astronomical Observatory at Greenwich near
London. Zero meridians is also called as prime meridian
or Greenwich Mean Time. *The longitudinal lines are not
parallel to each other. The distance between two longitudinal
lines is maximum at the equator (111.33 km.). *East of the
Prime Meridian is known as Eastern Hemisphere and West
of the Prime Meridian is known as Western Hemisphere.
*180º longitude is known as International Date Line. India
completely lies in the northern hemisphere. *The mainland
extends between the latitudes 8º4' and 37º6'north and
longitudes 68º7'E and 97º25'E. The southernmost boundary
of Indian territory extends up to 6º45'N. The southern part
of India lies within the tropics and the northern part lies in
the subtropical zone or the warm temperate zone.

1. The expansion of India is between –
(a) 37° 17' 53'' North and 8° 6' 28" South
(b) 37° 17' 53" North and 8° 4' 28" South
(c) 37° 17' 53" North and 8° 28" North
(d) None of the above

39th B.P.S.C. (Pre) 1994
Ans. (d)

The area of India extends between 8°4' North to 37°6' North 
latitudes and 68° 7' East to 97° 25' East longitudes. The Tropic 
of Cancer passes almost through the middle of India. Thus, 
it is clear that none of the options are correct.

2. The latitude that passes through Sikkim also passes
through:
(a) Rajasthan (b) Punjab
(c) Himachal Pradesh (d) Jammu & Kashmir

I.A.S. (Pre) 2010
Ans. (a)

The latitude that passes through Sikkim also passes through 
Rajasthan.

3. 700  East longitude passes through :
(a) Jodhpur (b) Jaisalmer
(c) Dholpur (d) Nagaur

R.A.S./R.T.S. (Pre) 2010
Ans. (b)

700 East longitude passes through Jaisalmer, Rajasthan.

iii. India and the Tropic of Cancer
*The Tropic of Cancer (23º30'N) divides India into almost
two equal parts. It passes through eight Indian states. These
are Gujarat, Rajasthan, Madhya Pradesh, Chhattisgarh,
Jharkhand, West Bengal, Tripura and Mizoram.

The duration of the days increases with the northward 
movement of the sun. The position of the sun on 21 June is 
vertically overhead the Tropic of Cancer.

1. The Tropic of Cancer passes through which of the
following states :
(a) Odisha (b) Bihar (Jharkhand)
(c) Uttar Pradesh (d) Andhra Pradesh

U.P. P.C.S. (Pre) 1990
Ans. (b)

Tropic of Cancer passes almost through the middle of India. 
It passes through 8 Indian states, namely Mizoram, Tripura, 
West Bengal, Jharkhand, Chhattisgarh, Madhya Pradesh, 
Rajasthan and Gujarat. Thus, at present none of the options 
are correct. At the time of examination, Jharkhand was part 
of the Bihar. Therefore option (b) has been considered as 
the correct answer.

2. The Tropic of cancer passes through which of the
following states?
Select the correct answer from the code given below:
1. Gujarat 2. Chhattisgarh
3. Uttar Pradesh 4.  Jharkhand
Code :
(a) 1, 2 and 4 (b) 1, 2, 3 and 4
(c) 1, 3 and 4 (d) 2, 3 and 4

U.P.P.C.S. (Pre) 2017
Ans. (a)

See the explanation of the above question.
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3.  Tropic of Cancer passes through –
 (a) Madhya Pradesh (b) Tripura
 (c) Mizoram (d) All of these

M.P.P.C.S. (Pre) 2014
Ans. (d)

See the explanation of the above question.

4. Through how many Indian states does the Tropic of 
Cancer pass?

 (a) 6 (b) 8
 (c) 7 (d) 9

Uttarakhand P.C.S. (Pre) 2010
Ans. (b)

See the explanation of the above question.

5.  The state of India through which Tropic of Cancer 
passes is –

 (a) Jammu and Kashmir (b) Himachal Pradesh
 (c) Bihar (d) Jharkhand

Jharkhand P.C.S. (Pre) 2011
Ans. (d)

See the explanation of above question.

6. Tropic of Cancer does not cross which of the following 
State?

 (a) Tripura   (b) Chhattisgarh
 (c) Manipur  (d) Mizoram

U.P. R.O./A.R.O. (Pre) (Re-Exam) 2016
Ans. (c)

See the explanation of the above question.

7.  Which one of the following towns is nearest to the 
Tropic of Cancer : 

 (a) Agartala  (b) Gandhinagar
 (c) Jabalpur (d) Ujjain

U.P.P.S.C. (GIC) 2010
U.P.P.C.S. (Pre) 1999

U.P. Lower Sub. (Pre) 2002
Ans. (b)

The place whose latitudinal position is at a minimum distance 
from the latitude of Tropic of Cancer will be the nearest place 
to the Tropic of Cancer. The Tropic of Cancer is at 23° 30' N; 
divides India into almost two equal parts. Latitudinal position 
of the towns given in the options is :-
Place  Latitude Diff erence in Position
     (23o 30')
Agartala               23º 50' N  –20'
Gandhinagar        23º19' N  +11'
Jabalpur               23º 11' N  +19'
Ujjain  23º 09' N +21'
According to the distance from the Tropic of Cancer, 
Gandhinagar is the nearest town . Thus, option (b) is the 
correct answer.

8.  Among the following cities, which one is nearest to the 
Tropic of Cancer?

 (a) Delhi (b) Kolkata
 (c) Jodhpur (d) Nagpur

I.A.S. (Pre) 2003
Ans. (b)

The latitudinal position of the above cities in context to the 
Tropic of Cancer is :-
Delhi  - 28º25' - 28º53' North
Kolkata  - 22º30' North
Jodhpur               - 26º0' - 27º37' North
Nagpur  - 21º09' North
The Tropic of Cancer is located approximately 23º 30' North 
of the Equator, so the nearest city to the Tropic of Cancer 
from the above options is Kolkata.

9.  Which important latitude divides India into almost  
two equal parts?

 (a) 23°30' South (b) 33°30' North
 (c) 0° (d) 23°30' North

M.P.P.C.S. (Pre) 2008
Ans. (d)

23030' North latitude divides India almost into two equal 
parts. It is known as Tropic of Cancer.

10.  Which of the following statements are true?
 I. The Tropic of Cancer divides India into two halves.
 II. The Tropic of Cancer divides Indian International 

 boundary into two halves.
 III. Maximum East-West expansion of India lies along 

 the Tropic of Cancer.
 IV. Line joining the easternmost and westernmost 

 points of India lies to the north of the Tropic of 
 Cancer.

 Select the correct answer from the options given below:
 (a) I and II (b) III and IV
 (c) II and III (d)  I and IV

Jharkhand P.C.S. (Pre) 2023
Ans. (d)

The Tropic of Cancer is an imaginary line (23030' North 
latitudes passes through the middle of the country). This 
imaginary line divides India into two halves. Signifi cantly, 
the tropic of cancer does not divide the Indian International 
boundary into two halves. Notably, the maximum east-
west expansion of India does not lie along the Tropic of 
Cancer. Signifi cantly the line joining the easternmost 
and westernmost points of India dies to the North of the 
Tropic of Cancer. Easternmost point of India is Kibithu in 
Arunachal Pradesh while the Westernmost point is Guhar 
Moti in the Kutch district of Gujarat.
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11.  Which of the following Indian state lies north of the 
tropic of Cancer ?

 (a) Jharkhand (b) Manipur
 (c) Mizoram (d) Tripura

R.A.S./R.T.S. (Pre) (Re. Exam) 2013 
U.P.P.C.S. (Mains) 2008

Ans. (b)

The Tropic of Cancer  passes through 8 Indian states namely 
Mizoram, Tripura, West Bengal, Jharkhand, Chhattisgarh, 
Madhya Pradesh, Rajasthan and Gujarat. Manipur lies north 
of the Tropic of Cancer.

12. Which, among the following places, will have maximum 
day length in the month of June ? 

 (a) Hyderabad (b) Chennai
 (c) Bhopal (d) Delhi

Uttarakhand P.C.S. (Mains) 2006
Ans. (d)

The length of days in northern hemisphere, start increasing 
after the sun is moving north of equator. On 21 June (summer 
solstice) the sun is directly overhead and north pole is tilted 
towards the sun and therefore the northern hemisphere has 
days ranging from just over 12 hours around to 24 hours in 
Arctic Circle. Delhi is the most appropriate answer as it is 
the most northerly given option.

13.  Which of the following city is nearest to the Tropic of 
Cancer?

 (a) Jabalpur (b) Ahmedabad
 (c) Ujjain (d)  Varanasi

U.P.P.C.S. (Mains) 2017
Ans. (a)

The latitudinal position of the cities given in the option is 
as follows :
(Place)       (Latitude)

Jabalpur      23011' North

Ahmedabad      23002' North

Ujjain         23009' North

Varanasi        25018' North

According to the latitudinal position of the above mentioned 
cities, the nearest city to the Tropic of Cancer would be 
Jabalpur, because of the latitudinal diff erence between the 
latitude of Jabalpur and the Tropic of Cancer are the least.

14.  Which of the following rivers of India crosses the tropic 
of cancer twice? 

 (a) Mahi (b) Chambal
 (c) Narmada (d)  None of the above

U.P.R.O./A.R.O. (Re-exam) (Pre.) 2016
Ans. (a)

Mahi River crosses the Tropic of Cancer twice. It originates 
in Madhya Pradesh and fl ows through Rajasthan, Gujarat, 
and drains into the Gulf of Khambhat in Arabian Sea.

iv. Standard Time
*To avoid diffi  culties a system of standard time is observed 
by all countries. Most countries adopt their standard time 
from the central meridian of the countries. *There is a general 
understanding among the countries of the world to select the 
standard meridian in multiples of 7º30' (7030'=30 minute) 
of longitude. That is why 82º30'E has been selected as the 
Standard Meridian of India. This meridian passes through 
the Mirzapur district (near Allahabad now Prayagraj) in the 
state of UP. *Indian Standard Time (I.S.T.) is 5 hours and 30 
minutes ahead of Greenwich Mean Time (G.M.T.).

 

Indian standard Meridian passes through total 5 states which 
are Uttar Pradesh, Madhya Pradesh, Chhattisgarh, Odisha and 
Andhra Pradesh. *There are a total 360 longitudes. All these 
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longitudes divide the earth into two equal parts and therefore 
they are also known as Great Circle. Since the earth rotates 
360o in about 24 hours, which means 15o  in an hour or 1o in 
four minutes. Therefore the diff erence in every 15º longitude 
is 1 hour. The earth rotates from west to east, so every 15º 
we go eastern wards the local time is advanced by an hour 
and vice versa. *The whole world has been divided into 24 
Standard time zones, each of which diff ers from the next 
by 15º in longitude or one hour in time. A traveler going 
eastward of the Greenwich gains time (He will be 12 hours 
ahead of G.M.T. till he reaches the 180ºE meridian) while 
moving westward he loses 12 hours when he reaches 180º W. 
There is thus a total diff erence of 24 hours on the two sides 
of 180º meridian. Thus the date changes exactly by one day 
crossing the International Date Line. It is curved from the 
normal 180º meridian at the Bering Strait, Fiji, Tonga and 
other islands to prevent confusion of date.

1.  Consider the following statements :
 I. The latitudinal and longitudinal extent of mainland 

 India is around 300.
 II. From Gujarat to Arunachal Pradesh, there is a 

 time lag of two and half hours.
 III. The 82030' E is the Standard Meridian of India.
 IV. Time along the Standard Meridian is taken as the 

 standard time for India.
 Select the correct answer from the options given below:
 (a) I- True, II- False, III- False, IV- True 
 (b) I-True, II-False, III-True, IV- True
 (c) I-True, II-True, III-True, IV-False
 (d)  I-False, II-True, III-False, IV-True

Jharkhand P.C.S. (Pre) 2023
Ans. (b)

India lies in the Northern Hemispher with respect to the 
latitudinal and longitudinal extent, India lies between 
latitudes 804'N and 3706'N and the longitudes 6807'E and 
97025'E. It is around 300. From Gujarat to Arunachal 
Pradesh, there is a time lag of two hours. Signifi cantly, the 
standard meridian of India is 82030'E. Notably, the longitude 
of 82030'E is considered as the standard meridian.

2.  When it is midnight at IST meridian, a place observes 
6 A.M. The meridian on which the said place is located 
is-

 (a) 70 31' E (b) 1720 30' E
 (c) 70 30' E (d) 1270 30' W

U.P.P.C.S. (Mains) 2002
Ans. (b)

When there is midnight at IST meridian, a place observes 
6:00 A.M. has to be in the east of India. It is because Sun 
rises early in the east. The diff erence in their meridian after 
6 hours will be 15 × 6 = 90º (15º = 1 hour). Indian Standard 
Time (IST) is the time observed throughout India and is

calculated based on the East longitude. Thus, the

place is situated at = 90º + = 172º 30' East.

3.  How many hours of time difference will be there 
between the most western village of Gujarat and the 
most eastern village of Arunachal Pradesh, Walong ?

 (a) 1 hour (b) 2 hour
 (c) 3 hour (d) 1/2 hour

U.P.P.C.S. (Pre) 1992
Ans. (b)

The state of Gujarat is situated on the west coast of India 
between 68º 4' East and 74º 4' east longitudes and Arunachal 
Pradesh is located between 91° 30' East and 97° 30' East 
longitudes. Thus, the longitudinal diff erence between western 
village of Gujarat and eastern village of Arunachal Pradesh 
is 97º30' – 68º4' = 29º26' . As we know from  one longitude 
to next longitude the diff erence is 4 minutes,  thus 29º26' × 
4 = Approximately 118 minutes (approx 2 hours) diff erence.

4. Consider the following statements:
 1.  Longitude of Jabalpur's location is between those 

of Indore and Bhopal.
 2.  Latitude of Aurangabad's location is between those 

of Vadodara and Pune.
 3.  Bengaluru is situated more southward than 

Chennai.
 Which of these statements is/are correct?
 (a) 1 and 3 (b) Only 2
 (c) 2 and 3 (d) 1, 2 and 3

I.A.S. (Pre) 2003
Ans. (c)

Latitudinal and longitudinal positions of the locations 
(districts) as per "Census of India - 2011" given below:-
Jabalpur  - 22o 49' N to 24o 08'N; 
     79º 21' E to 80º 58' E
Indore  -  22o 20' N to 23º 05' N; 
     75º 26' E to 76º 14' E
Bhopal  -  23º 04' N to 23º53' N; 
     77º12' E to 77º 40' E



CA–15 General Studies Indian Geography

Aurangabad  -  19o 18' N to 20º 40' N; 
     74o 34'  E to 76º 04' E
Vadodara - 21o 50' N to 22º 50' N;
                                       72º 50' E to 74º 10' E
Pune  - 17o 54' N to 19º 24' N; 
     73o 19' E to 75º 10' E
Bengaluru   - 12o 39' N to 13º 14' N; 
     77º 19' E to 77º 50' E
Chennai                -  12o 54' N to 13º 54' N; 
     80o 7' E to 80º 11' E
Explanation according to given facts -
Statement (1) -  Longitude of Jabalpur's location is not 

between those of Indore and Bhopal.
Statement (2) -  Latitude of Aurangabad's location is 

between those of Vadodara and Pune.
Statement (3) -  Bengaluru is situated more southward than 

Chennai.

5.  Which of the following cities is closest to IST (Indian 
Standard Time) Meridian ?

 (a) Rewa (b) Sagar
 (c) Ujjain (d) Hoshangabad

M.P.P.C.S. (Pre) 2008
Ans. (a)

Indian Standard Time (IST) is 5 : 30 hours (5 hours 30 minutes) 
ahead of Greenwich Mean Time (GMT). The Standard Time of 
India is calculated on 82o30' East longitude. It passes through 
Mirzapur district in Uttar Pradesh. The location of above cities 
with regard to their closeness to IST meridian is:
Rewa   -   81º 02' E to 82º 20' E
Sagar   -   78º 04' E to 78º 20' E
Ujjain   -   75º 00' E to 76º 30' E
Hoshangabad  -    76º 47' E to 78º 44' E
Thus, it is clear that Rewa is closest to the IST meridian.

6.  If it is 10.00 a.m. IST, then what would be the local 
time at Shillong at 92° E longitude?

 (a) 9.38  a.m. (b) 10.38 a.m.
 (c) 10.22 a.m. (d) 09.22 a.m.
 I.A.S. (Pre) 1999
Ans. (b)

Indian Standard Time is calculated on the basis of 82.5° 
E longitude .The diff erence between the longitude of Shillong 
and the Indian Standard Time is  92°-82.5° = 9.5° . As we 
know that the diff erence of 1 longitude is equals to 4 minutes. 
So the diff erence in time between them is 9.5 × 4 = 38 minutes. 
So, if a watch indicates 10:00a.m. on IST , then  10:38 a.m. 
would be the local time at Shillong. Thus the correct answer 
is option (b).

7.  When it is noon at IST meridian, what would be the 
local time at 1200 East longitude –

 (a) 09.30 (b) 14.30
 (c) 17.30 (d) 20.00

U.P.P.C.S.(Pre) 2001
Ans. (b)

The longitudinal diff erence between the Indian Standard 
Time and 120°E longitude is 120° – 82°30'= 37°30'. Since 
the diff erence of 1 longitude is equal to 4 minutes. So 
the diff erence in time between them is 37°30' × 4= 150 
minutes (means 2 hours, 30 minutes).Thus, if it is noon at 
IST meridian, then the local time at 120° East longitude is 
12:00+2:30=14:30.

8. The Indian Standard Time Meridian does not pass 
through-

 (a) Andhra Pradesh (b) Chhattisgarh
 (c) Maharashtra (d) Uttar Pradesh

U.P.P.C.S. (Mains) 2010
Ans. (c)

The Indian Standard Time Meridian  82  E passes through 
Uttar Pradesh, Madhya Pradesh, Chhattisgarh, Odisha and 
Andhra Pradesh. It does not pass through Telangana also .

9.  Standard Indian Time (Meridian Longitude 82° 30') 
passes through which of the following towns?

 (a) Nagpur (b) Delhi
 (c) Patna (d) Allahabad

M.P.P.C.S. (Pre) 1996
Ans. (d)

Indian Standard Time is calculated on the basis of 82° 30' 
E longitude. This Meridian passes through Mirzapur district 
(Near Prayagraj) in the state of Uttar Pradesh. It also passes 
through Jagdalpur of Chhattisgarh. The Indian Standard Time 
is ahead of Greenwich Mean Time by 5 hours and 30 minutes.

10.  Which of the following longitudes is known as 
“Standard Meridian” in India?

 (a) 87° 30' E (b) 85° 30' E
 (c) 84° 30' E (d) 82° 30' E
      U.P.P.C.S.(Pre) 2013

 U.P. Lower Sub. (Pre) 2013
Ans. (d)

See the explanation of the above question.
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11.  The Indian Standard Time is taken from which of the 

following city?

 (a) Allahabad (Naini)

 (b) Lucknow

 (c)  Meerut

 (d) Muzaff arnagar

U.P.P.C.S. (Pre) 1993

Ans. (a)

See the explanation of the above question.

12.  How much is the diff erence between Indian Standard 

Time (I.S.T.) and Greenwich Mean Time (G.M.T.)?

 (a) + 4  2
1 hours (b) + 5 2

1   hours

 (c) – 5 hours (d) – 4 2
1   hours

Jharkhand P.C.S. (Pre) 2010

45th B.P.S.C (Pre) 2001

Jharkhand P.C.S. (Pre) 2003

Ans. (b)

See the explanation of the above question.

13.  If the Sun rises at TIRAP in Arunachal Pradesh at 

5.00 am (IST) then what time (IST) will the Sun rise 

in Kandla in Gujarat?

 (a)   About 5.30 a.m. (b)  About 6.00 a.m.

 (c)   About 7.00 a.m. (d)  About 7.30 a.m.

U.P.P.C.S (Pre) 2010

Ans. (c)

There is a diff erence of about 2 hours between Kandla 
(Gujarat) and Tirap (Arunachal Pradesh) due to the 
longitudinal position of both the cities. Thus, if the Sun rises 
at Tirap (95° 31') in Arunachal Pradesh at 5:00 a.m. (IST) 
then the Sun will rise at 7:00 a.m. in Kandla (70° 11'). 

14.  Among the following cities, which one lies on a 

longitude closest to that of Delhi?

 (a) Bengaluru 

 (b)  Hyderabad

 (c)  Nagpur

 (d) Pune

I.A.S. (Pre), 2018 

Ans. (a)

The longitudinal extent of Delhi is between 76050' East to 

77022' East. That city will be located on the longitude near-

est to Delhi, which will have the least longitude diff erence 

from Delhi the longitudinal extent of the cities given in the 

question is as follows–

      (City)        (Longitudinal extent)

    Bengaluru  - 77°19' East to 77°50' East

    Hyderabad -  78°23' East to mes 78°68' East

    Nagpur -  78°15' East to 79°40' East

    Pune  -     73°19' East to 75°10' East

Among the given option, Bengaluru will be located of the 

closest longitude to Delhi, because the longitudinal diff erence 

between Delhi and Bengaluru is the most. Hence the option 

(a) is correct answer.

15.  On which plateau, the Tropic of Cancer and the Indian 
Standard Time Line intersect each other?

 (a) Bundelkhand (b) Baghelkhand
 (c) Malwa (d)  None of the above

69th B.P.S.C. (Pre),  2023
Ans. (b)

Tropic of Cancer is 23.50N and Indian standard date line is 
82.50E. Signifi cantly, Tropic of cancer passes through eight 
states - Rajasthan, Gujarat, Madhya Pradesh, Chhattisgarh, 
Jharkhand, West Bengal, Tripura and Mizoram while Indian 
standard time line passes through fi ve states- Uttar Pradesh, 
Madhya Pradesh, Chhattisgarh, Odisha and Andhra Pradesh. 
They both intersect at Koria district in Chhattisgarh. Korea 
district lies in Baghelkhand Plateau.

v. Extreme Points 
*India is located in the North and Eastern hemisphere. In 

India, the easternmost State/UTs is Arunachal Pradesh, the 

westernmost is Gujarat, the northernmost area is Ladakh (the 

then Jammu and Kashmir bifurcated into two UTs i.e. Jammu 

and Kashmir and Ladakh) and the southernmost is Andaman 

and Nicobar Islands. The four extreme points of India are- 

*Southernmost Point - Indira Point of Great Nicobar (6o 4'N 

latitudes) is a village in the Nicobar district of Andaman and 
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Nicobar islands, India. It is the location of the southernmost 
point of the India’s territory. Kanyakumari (8o 4'N latitudes) 
is the southern most point on the Mainland.
*Northernmost Point - At Indira Col near Siachen Glacier 
Ladakh.

*Westernmost Point - Guhar moti or Guhar mota (in the Kutch 
region of Gujarat). *Easternmost point - Kibithu (Arunachal 
Pradesh).

1.  The southern most point of India is-
 (a) Kanyakumari  (b)  Rameshwaram
 (c)  Indira Point  (d)  Point Calimere

Uttarakhand P.C.S. (Pre) 2003
U.P. Lower Sub. (Pre) 2002

Ans. (c)

The four extreme points of India are :
Southernmost Point - Indira Point (6o 4' N latitudes)  is a 
village in the Nicobar district of Andaman and Nicobar
Islands, India. It is located in the Great Nicobar tehsil. It is 
the location of the southernmost point of India’s territory. On 
the mainland, Kanyakumari, Tamil Nadu (8o 4' N latitudes) 
is the southern most point.
Northernmost Point - Near  Siachen Glacier,   

at Indira Col Ladakh.
Westernmost point - Guhar Moti or Guhar   

Mota (Gujarat).
Easternmost Point - Kibithu (Arunachal Pradesh).
Thus the correct answer is option (c).

2.  Where is the southern most point of India located ?
 (a) Kanyakumari (b)  Great Nicobar
 (c)  Lakshadweep (d)  Madras

U.P.P.C.S. (Pre) 1990
Ans. (b)

See the explanation of the above question. 

3.  The southernmost point of India "Indira Point" is in :
 (a) Tamil Nadu
 (b) Chhota Nicobar
 (c) Great Nicobar
 (d) Kar Nicobar Island

M.P.P.C.S. (Pre) 2006
Ans. (c)

See the explanation of the above question.

4.  Which one of the following pair of states of India 
indicates the easternmost and westernmost state?

 (a) Assam and Rajasthan
 (b) Arunachal Pradesh and Rajasthan
 (c) Assam and Gujarat
 (d) Arunachal Pradesh and Gujarat

I.A.S. (Pre) 2015
Ans. (d) 

The eastern most state is Arunachal Pradesh and the western 
most is Gujarat.

5.  The westernmost point of India is -
 (a) 68° 7' W, Gujarat
 (b) 68° 7' W, Rajasthan
 (c) 68° 7' E, in Gujarat
 (d) 68° 7' E, Rajasthan

M.P.P.C.S. (Pre) 2008
Ans. (c)

West of Guhar Moti in Kutch, Gujarat is the westernmost 
point of India. Its Latitude/Longitude is 2307' N/ 68°7' E. 
Guhar Moti is in the Kutch region of Gujarat.

6.  Which one among the following major Indian cities is 
most eastward located ?

 (a) Hyderabad (b) Bhopal
 (c) Lucknow (d) Bangalore

I.A.S. (Pre) 2007
Ans. (c)
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The location of the above-mentioned cities can be determined 
by their longitudinal extension, which are 
Hyderabad - 78° 23' E to 78º 68' E
Bhopal - 77º 12' E to 77º 40' E
Lucknow - 80º 34' E to 81º 12' E
Bangalore (Now Bengaluru) - 77º 19' E to 77º 50' E
All the above cities are located in the middle of the eastern 
longitudes. Thus, the city which has the largest longitudinal 
extension is located most eastward. By looking at the above 
longitudes Lucknow is most eastward located.

7.  Name the place in India where Bay of Bengal, Arabian 
Sea and Indian Ocean meet.

 (a) Kanyakumari (b) Indira Point
 (c) Nagercoil (d) Rameshwaram

Jharkhand P.C.S. (Pre) 2016
Ans. (a)

Kanyakumari, which is the southernmost point of the Indian 
mainland, is the place where Bay of Bengal, Arabian Sea and 
Indian Ocean meet. Kanyakumari is a part of Tamil Nadu.

vi. Bordering Countries
*The neighbouring countries of India are Pakistan, 
Afghanistan, China, Nepal, Bhutan, Myanmar, 
Bangladesh, Maldives and Sri Lanka. India has natural as 
well as man-made boundaries. Indian land boundary touches 
China and Nepal in the north, Afghanistan in the north-west, 
Pakistan in the west, Bangladesh and Myanmar in the east and 
Bhutan in the north-east. The border of India with Pakistan 
and Bangladesh is man-made.
*Indian States & UTs sharing boundaries with neighbouring 
Countries are-
Pakistan - Ladakh, Jammu & Kashmir, Punjab, Rajasthan 
and Gujarat.
Afghanistan - Ladakh
China - Ladakh, Himachal Pradesh, Uttarakhand, Sikkim 
and Arunachal Pradesh.
Bangladesh - Mizoram, Tripura, Assam, Meghalaya and 
West Bengal.
Myanmar - Arunachal Pradesh, Nagaland, Manipur and 
Mizoram. Myanmar is also called as the land of Golden 
Pagoda.
Nepal - Uttarakhand, Uttar Pradesh, Bihar, West Bengal 
and Sikkim.

Bhutan - West Bengal, Sikkim, Arunachal Pradesh and 
Assam. Bhutan is also called as the land of thunderbolts.
*Himalaya in the north, Bay of Bengal in the south-east, 
Indian ocean in the South and Arabian sea in the south-west 
are the natural boundaries of India. *The boundary between 
India and Pakistan is an example of a Superimposed 
boundary. The superimposed boundary is a boundary that 
has been imposed over an area by an outsider or conquering 
power. In 1947, India and Pakistan were separated through 
a draft created by a Britisher Sir Cyril Radcliff e and that is 
why the boundary line between India and Pakistan is known 
as Radcliff e line. *The McMahon line separates India from 
China. Afghanistan is separated from India by Durand Line.
*In Sea, Sri Lanka is the nearest neighbour of India. Sri 
Lanka is separated from India by a narrow channel of sea 
known as the Palk Strait and Gulf of Mannar. The Palk 
Strait was named after the then Governor of Madras Robert 
Palk (1763-67).
*Bangladesh forms the most extended land frontier (4096.7 
km) with India. Afghanistan forms the shortest land frontier 
(106 km) with India.
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*The Eastern hills or Purvanchal are the Southward extension  
of Himalayas (Arakan Yoma, Naga hills, Patkaibum) 
forms the land boundary separating Myanmar from India by 
the Irrawaddy River. The state of Tripura is surrounded by 
Bangladesh from three sides. Sikkim shares its boundary with 
three countries i.e. Nepal, Bhutan and China. West Bengal 
shares its boundary with Nepal, Bhutan and Bangladesh.

1.  Consider the following statements :
 1. Assam shares border with Bhutan and Bangladesh.
 2. West Bengal shares border with Bhutan and Nepal.
 3. Mizoram shares border with Bangladesh and 

Myanmar.
 Which of the statements given above are correct? 
 (a) 1, 2 and 3  (b) 1 and 2 only
 (c) 2 and 3 only (d) 1 and 3 only

I.A.S. (Pre) 2006
Ans. (a)

The political map of India clearly shows that Assam shares 
border with Bhutan and Bangladesh. West Bengal shares 
border with Bhutan, Nepal and Bangladesh. Mizoram shares 
border with Bangladesh and Myanmar. Thus all the above three 
statements are correct. Hence option (a) is the correct answer.

2.  Which of the following Indian States shares its 
boundary with Bangladesh and Myanmar?

 (a) Nagaland (b) Tripura
 (c) Mizoram (d)  Manipur

Jharkhand P.C.S. (Pre) 2023
Ans. (c)

Mizoram shares its boundary with Bangladesh and Myan-
mar. Notably, Mizoram is located in the North East part of 
India and shares its Western border with Bangladesh and its 
eastern border with Myanmar.

3.  Which one of the following states does not form the 
border with Bangladesh?

 (a) Meghalaya (b) Tripura
 (c) Manipur (d) Mizoram

Uttarakhand U.D.A./L.D.A. (Mains) 2007
U.P.P.C.S. (Spl) (Mains) 2004

U.P.P.C.S. (Pre) 2002
U.P. Lower Sub. (Pre) 2002

Ans. (c)

West Bengal, Assam, Meghalaya, Mizoram and Tripura are 
the Indian states that share their borders with Bangladesh. 
Mymensingh, Rangpur, Khulna, Sylhet, Rajshahi and 
Chittagong are the six divisions of Bangladesh that are 
situated along the India-Bangladesh border. Manipur does not 
share border with Bangladesh. Manipur has an International 
border with Myanmar.

4.  Which of the following states does not form its 
boundary with Bangladesh?

 (a) Assam (b) Nagaland
 (c) Meghalaya (d) Mizoram

U.P.P.C.S. (Mains) 2016
Ans. (b) 

See the explanation of the above question.

5.  Indian states bordering Bangladesh are –
 (a) W. Bengal, Nagaland, Assam, Meghalaya
 (b) Nagaland, Assam, Sikkim, W. Bengal
 (c) Meghalaya, Assam, W. Bengal, Tripura
 (d) Nagaland, Assam, W. Bengal, Tripura

Chhattisgarh P.C.S. (Pre) 2003
Ans. (c)

See the explanation of the above question.

6.  Which one of the following Indian states does not share 
border with Bhutan?

 (a) Sikkim (b) Meghalaya
 (c) Arunachal Pradesh (d) West Bengal

M.P.P.C.S. (Pre) 2012
Ans. (b)

Bhutan and India are neighbouring countries that share 
border with each other. The Indian states of West Bengal, 
Sikkim, Assam, and Arunachal Pradesh share their borders 
with Bhutan. Meghalaya does not share border with Bhutan. 
It shares border with Bangladesh.
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7.  Which of the following states in India, do not share 
border with Bhutan?

 (a) Assam (b) Sikkim
 (c) Bihar (d) Arunachal Pradesh

Jharkhand P.C.S. (Pre) 2021
Ans. (c)

See the explanation of the above question.

8. In November 1998, the Composite Dialogue Process 
between India and Pakistan included three contentious 
issues listed below as 1, 2 and 3. Contentious Issues are –

 1. Disengagement of troops 
 2.  Settlement of boundary dispute 
 3.  Sharing river water.

  

 Match the issues with the areas marked in the map 
as A, B and C and select the correct answer using the 
code given below :-

 Code :
 (a)  A-2 B-1 C-3 (b)  A-2 B-3 C-1
 (c)  A-1 B-3 C-2 (d)  A-3 B-2 C-1

I.A.S. (Pre) 1999
Ans. (a)

The Composite Dialogue Process between India and Pakistan 
was started in November, 1998, under which 6 issues were 
scheduled for negotiation, including Sir Creek Sea Treaty, 
Wullar Barrage/Tulbul Navigation Project and deployment of 
army troops on LOC . A denotes Sir Creek region, B denotes 
LOC region , C denotes Sindhu river Region.

9.  Which of the following Indian state shares the maximum 
boundary with Myanmar ?

 (a)  Manipur (b)  Arunachal Pradesh
 (c)  Mizoram (d)  Nagaland 

R.A.S./R.T.S. (Pre) 2007
Ans. (b)

Arunachal Pradesh shares maximum boundary with 

Myanmar. The neighbouring countries of India are Pakistan, 

Afghanistan, China, Nepal, Bhutan, Myanmar, Bangladesh, 

Maldives and Sri Lanka. The Indian boundaries are of 

both types i.e., natural and man-made. India shares 

the longest land boundary with Bangladesh (4096.7 km) 

and the shortest Land boundary with Afghanistan (106 km).
Indian States & UTs bordering with neighbouring countries 
are –
1. Bordering Pakistan - Ladakh, Jammu and Kashmir, 

Punjab, Rajasthan and Gujarat
2.  Bordering China - Ladakh, Himachal Pradesh, 

Uttarakhand, Sikkim and Arunachal Pradesh
3.  Bordering Nepal - Bihar, Uttarakhand, Uttar Pradesh, 

Sikkim and West Bengal 
4.  Bordering Bangladesh - West Bengal, Assam,  

Meghalaya, Tripura and Mizoram
5.  Bordering Bhutan - West Bengal, Sikkim, Assam and 

Arunachal Pradesh 
6.  Bordering Myanmar - Arunachal Pradesh, Nagaland, 

Manipur and Mizoram 
7.  Bordering Afghanistan - Ladakh

10.  Which States of India have a common border with 
Myanmar?

 (a) Manipur, Mizoram, Nagaland, Tripura 
 (b) Arunachal Pradesh, Nagaland, Manipur, Mizoram
 (c) Arunachal Pradesh, Assam, Manipur, Mizoram 
 (d)  More than one of the above
 (e) None of the above

68th B.P.S.C. (Pre) 2022
Ans. (b)

See the explanation of the above question.

11. Which of the following states of India does not have a 
common border with Myanmar ?

 (a) Assam  
 (b) Nagaland
 (c) Arunachal Pradesh 
 (d) Mizoram

U.P.P.C.S. (Mains) 2012
Ans. (a)

Arunachal Pradesh, Nagaland, Manipur and Mizoram are 
Indian states which share border  with Myanmar but Assam 
does not share its border with Myanmar. It shares with 
Bangladesh & Bhutan.
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12.  Which of the following groups of  Indian states share 
its boundaries with Pakistan ? 

 (a) Jammu and Kashmir, Himachal Pradesh , Punjab and 
Rajasthan.

 (b)  Punjab, Jammu and Kashmir, Rajasthan and Gujarat.
 (c)  Punjab, Haryana, Jammu and Kashmir and  Rajasthan.
 (d)  Punjab, Himachal Pradesh, Rajasthan, Gujarat.

U.P. U.D.A./L.D.A. (Pre) 2001
U.P. P.C.S. (Pre) 1990

Ans. (b)

Ladakh, Jammu and Kashmir, Punjab, Rajasthan and Gujarat 
are India states shared boundaries with Pakistan.

13.  The group of Indian states neighbouring Nepal is –
 (a)  Sikkim-Bhutan
 (b)  Sikkim-Bihar
 (c)  Assam- Bihar
 (d)  Uttar Pradesh-Haryana 

 R.A.S./R.T.S. (Pre) 1999, 2000
Ans. (b)

Sikkim, Bihar, Uttarakhand, Uttar Pradesh and West Bengal 
are Indian states, shared boundaries with Nepal.

14.  Which one of the following countries share the longest 
land frontier with India?

 (a) China (b) Nepal
 (c) Pakistan (d) Bangladesh

M.P.P.C.S. (Pre) 2016
Ans. (d) 

Bangladesh forms longest land frontiers with India with 
4096.7 km long international boundary. Indian states 
bordering Bangladesh are Mizoram, Tripura, Assam, 
Meghalaya and West Bengal.

15.  The boundary between India and Pakistan was 
demarcated by:

 (a) Durand Line (b) McMahon Line
 (c) Maginot Line (d) Radcliff e Line

U.P.P.C.S. (Pre) 1996
Ans. (d)

The boundary between India and Pakistan was demarcated 
by Radcliff e line.
 Durand Line is between India and Afghanistan
 McMahon Line is between India and China
 Maginot Line is between France and Germany.

16.  What is the Radcliff e line?
 (a) America-Canada boundary line
 (b) Indo-Pakistan boundary line
 (c) Indo-China boundary line
 (d) Russia-Finland boundary line

M.P.P.C.S. (Pre) 2006
Ans. (b)

India has natural as well as man-made boundaries. Himalaya 
in the north, Bay of Bengal in the south-east, Indian Ocean 
in the south and Arabian sea in the south-west forms it's 
natural boundary. India shares its border with China (Tibet), 
Bangladesh, Afghanistan, Pakistan, Bhutan, Nepal, Maldive, 
Sri Lanka and Myanmar. Radcliff e line demarcates the border 
between India and Pakistan and Macmahon line between 
India and China. Durand line demarcates the border between 
India and Afghanistan. Sri Lanka is separated from India by 
the Palk Strait. It is about 64-137 km wide. It was named 
after the then Governor of Madras Robert Palk.

17.  Durand Line demarcated the Indian boundary with 
which of the following countries?

 (a)  Afghanistan  (b)  Burma
 (c)  Nepal (d)  Tibet 

U.P. U.D.A./L.D.A. (Pre) 2006
Ans. (a)

See the explanation of the above question.

18.  The boundary line between India and Pakistan is an 
example of -

 (a) Superimposed boundary 
 (b) Antecedent boundary
 (c) Relict boundary
 (d) Subsequent boundary

M.P.P.C.S. (Pre) 2016
Ans. (a) 

In 1947, Pakistan and India were separated on draft created by 
Sir Radcliff e and Radcliff e line was made. The two countries 
share superimposed boundary. A superimposed boundary is 
a boundary that has been imposed on an area by an outsider 
or conquering power.

19.  Which of the two countries is divided by 'McMahon 
Line'?

 (a) India and China (b) China and Afghanistan
 (c) Pakistan and India (d)  Pakistan and Afghanistan

M.P. P.C.S. (Pre) 2021
Ans. (a)
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The McMahan Line is the boundary line between India and 
China. It was the result of the Shimla Treaty of 1914. It 
was named after Sir Henry McMahon. Hence option (a) is 
correct.

20.  What is the boundary line between India and China 
called?

 (a) McMahon Line 
 (b) Radcliff e Line
 (c) Indira Point 
 (d)  Durand Line
 (e) None of the above / More than one of the above

67th B.P.S.C. (Pre) (Re. Exam) 2022
Ans. (a)

The boundary line between India and China was named 
McMahon line. This boundary line was determined by Sir 
Henry McMahon.

21.  Which of the following line demarcates India and the 
south-eastern part of China?

 (a)  Durand Line  (b)  McMahon Line
 (d)  Redcliff e Line (d)  None of these.

M.P.P.C.S. (Pre) 1993
Ans. (b)

See the explanation of the above question.

22.  McMahon line forms the boundary between
 (a) India and China (b) India and Pakistan
 (c) India and Myanmar (d) India and Nepal

U.P. P.C.S. (Pre) 2018
Ans. (a)

See the explanation of the above question.

23.  Which of the following separates India and Sri 
Lanka ?

 (a)  Suez Canal (b) Palk Strait Bay
 (c)  Gulf of Khambhat (d)  Gulf of Kutch

M.P.P.C.S. (Pre) 1990
Ans. (b)

Palk Strait and Gulf of Mannar separated Sri Lanka from India.

24.  Which State of India has borders with three countries 
namely Nepal, Bhutan and China?

 (a) Arunachal Pradesh (b) Meghalaya
 (c) West Bengal (d) Sikkim

M.P.P.C.S. (Pre) 2008
M.P.P.C.S. (Pre) 2015

Ans. (d)

The State of Sikkim in India has borders with three countries 
namely Nepal, Bhutan and China.

25.  Which one of the following states of India has an 
international boundary on its three sides ?

 (a) Assam (b) Nagaland
 (c) Tripura (d) West Bengal

U.P.P.C.S. (Spl) (Mains) 2008
Ans. (c)

Tripura is bordered by Bangladesh from north, west and 
south. Thus it has an international border on three sides. 
Assam and Mizoram are located in the east of Tripura.

26.  Extension of the International boundaries of India 
along with their neighbouring countries in ascending 
order are :

 (a) China, Bangladesh, Pakistan, Nepal
 (b) Nepal, Pakistan,China, Bangladesh
 (c) Nepal, Pakistan, Bangladesh, China
 (d)  Pakistan, Nepal, China, Bangladesh

M.P. P.C.S. (Pre) 2019
Ans. (b)

The length of the international border (land border) with the 
neighbouring countries of India is as follows :
Country Length of border (in km)

Bangladesh 4096.7

China 3488
Pakistan 3323

Nepal 1751

Myanmar 1643

Bhutan 699

Afghanistan 106
Total 15,106.7

Therefore, according to the question, the ascending order 
is - Nepal, Pakistan, China, and Bangladesh.

27.  India's territorial limit extends towards the sea up to 
how many nautical miles/km from the coast?

 (a) 10 nautical miles (about 19.9 km)
 (b) 16 nautical miles (about 25.9 km)
 (c) 12 nautical miles (about 21.9 km) 
 (d)  More than one of the above
 (e) None of the above

68th B.P.S.C. (Pre) 2022
Ans. (c)
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India's territorial limit extends towards the up to 12 nautical 
miles (about 21.9 km) from the coast. Signifi cantly, the 
main land of India, extends from Kashmir in the north to 
Kanniyakumari in the South and Arunachal Pradesh in 
the east to Gujarat in the West. India's Southern boundary 
extends upto 60 45'N latitude in the Bay of Bengal. The 
actual distance measured from north to south is 3214 km 
and that of east to west is only 2933 kms.

28.  Which district of Uttarakhand is not situated along 
the Tibbet boundary?

 (a) Uttarkashi (b) Chamoli
 (c) Almora (d)  None of the above

69th B.P.S.C. (Pre),  2023
Ans. (c)

Almora district of Uttarakhand is not situated along the Tib-
bet boundary. Signifi cantly, three districts of Uttarakhand 
shares border with Tibet-Chamoli, Pithoragarh and Uttar-
kashi.

2. Physical Divisions
i. Natural Regions of India

*Paleomagnetism is the branch that studies the magnetic 
properties preserved in the rocks, sediments or other such 
things during their formation. This branch of science is helpful 
in the study of ancient geological phenomena. According 
to continental drift theory, the Indian mainland is a 
part of Gondwanaland. Gondwanaland includes present 
day Peninsular India, Australia, Africa, South America 
and regions of Antarctica. *In mid Mesozoic era (Jurassic 
Period, 144-208 Million Years Ago) Gondwanaland split 
into a number of pieces through convection currents. Indian 
plate started drifting towards north after splitting from 
Gondwanaland. Consequently, Indian plate moving towards 
north, collided with a bigger plate, called Eurasian plate.
Due to this collision, the sedimentary rocks of the Tethys sea, 
between the two plates (i.e. Indian and Eurasian) folded and 
developed into the Himalayas and mountain ranges of West 
Asia. The whole mountain range of the Himalayas represents 
a youth topography. It has high peaks, deep valleys (gorges) 
and fast - fl owing rivers. In Terai region of the Himalayas, 
artesian wells are also found.
*Due to upliftment of Tethys sea in the Himalaya and 
subsidence of the northern fl ank of the peninsular plateau, 

resulted in the formation of a large basin. With the passage of 
time, this basin was fi lled gradually with sedimentary deposits 
of rivers fl owing from Northern mountains and Peninsular 
Plateau. In this way, a vast land area of alluvial deposits was 
developed as the ‘Northern Plain’ of India.
* Geologically, Peninsular plateau is the ancient part of 
Earth’s Surface. *Peninsular plateau is the most stable region 
of India. Peninsular plateau comprises of hills and broad 
valleys which are made up of igneous and metamorphic rocks. 
Meghalaya plateau is an extension of Peninsular plateau. It 
was separated from Indian Peninsula through Malda gap 
due to faulting. Western Coast of India was formed due to 
faulting and subsidence of the western fl ank of the plateau.
*Indian mainland shows a large variation in the physical 
structure. Therefore India is divided into four natural regions. 
These are - 1. Northern Mountains 2. Northern Plains 3. 
Peninsular Plateau and 4. Coastal Plains & Islands. *Apart 
from these divisions, based on of rock structure, relief and 
tectonic activities, India is divided into 4 primary and 6 
sub-physical geo-morphic regions-
1. The Northern and North-Eastern Mountains.
2. The Northern Plain 
3. The Indian Desert
4. The Peninsular Plateau
5. The Coastal Plain 
6. The Islands
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1.  The paleomagnetic results obtained from India indicate 
that in the past, the Indian land mass has moved :

 (a) Northward (b) Southward
 (c) Eastward (d) Westward

U.P.P.C.S. (Pre) 1998
I.A.S. (Pre) 1995

Ans. (a)

The Indian Landmass has moved northward. This is evident 
from the paleomagnetic results obtained from India. Even the 
extension of the plateau region in the north side is evident.
Paleomagnetism is the study of the record of the Earth's 
magnetic fi eld in rocks, sediment or archeological materials. 
This record provides information on the past behavior of 
Earth's magnetic fi eld and the past location of tectonic plates.
According to continental drift theory Indian land mass was 
part of Gondwanaland which included South America, 
Antarctica, Australia, Africa and Peninsular India. This large 
land mass broke and Indian land mass moved north wards. 
Vindhya and Western Ghat mountains emerged during this 
period. 

2. The Indian subcontinent was originally part of a huge 
mass called :

 (a)  Jurassic land mass         (b)   Aryavarta
 (c)  Indiana  (d)   Gondwana Continent

I.A.S. (Pre) 1995
Ans. (d)

The Indian subcontinent  was originally part of a huge 
landmass called Gondwana Continent. Gondwana was an 
ancient supercontinent that broke up about 200 million 
years ago. The continent eventually split into landmasses 
that we recognize today as Africa, South America, Australia, 
Antarctica, the Indian subcontinent and the Arabian 
Peninsula.

3.  India is divided into how many Natural Territories ?
 (a) 4 (b) 6
 (c) 7 (d) 8

R.A.S./R.T.S. (Pre) 1996
Ans. (a)

India is divided into four main natural regions. These are –
(i) Northern mountainous region
(ii) Large Plains
(iii) Peninsular Plateau
(iv) Coasts and Islands
It is further categorized in six sub-physical regions:
(i) Northern Mountains
(ii) Sindhu-Ganga Plains
(iii) Thar Desert

(iv) Central highland and Deccan Plateau
(v) Coastal Plains
(vi) Sea and Islands 

4.  In which part of Uttarakhand are artesian wells found?
 (a)  Bhabhar (b)  Tarai
 (c)  Shivalik Hills (d)  None of the above

Uttarakhand P.C.S. (Mains) 2006
Ans. (b)

An artesian well is simply a well that doesn’t require a pump 
to bring water to the surface. This occurs when there is 
enough pressure in the aquifer. The pressure forces the water 
to the surface without any sort of assistance. In Uttarakhand, 
artesian wells are mostly found in the Tarai Region.

5.  Consider the following statements regarding formation 
of landforms in India :

 I. Structurally, the Meghalaya plateau is an extended 
part of the Deccan plateau.

 II. The Valley of Kashmir was formed in a synclinorium.
 III. The Gangetic plain was formed in a fore deep.
 IV. The Himalayas originated as a result of triangular 

convergence of the Indian plate, the European plate 
and the Chineses plate.

 Which of these statements are correct?
 (a) I, II and III (b) I, III and IV
 (c) I and III (d) II and IV

47th  B.P.S.C. (Pre) 2005
Ans. (a)

Meghalaya plateau is an extension of the Peninsular plateau. It 
is believed that due to the force exerted by the north eastward 
movement of the Indian plate at the time of the Himalayan 
origin, a huge fault was created between the Rajmahal hills 
and the Meghalaya plateau. Later, this depression got fi lled 
up by the deposition activity of numerous rivers. Today, the 
Meghalaya and Karbi Anglong plateau stand detached from 
the main Peninsular Block. Thus statement (1) is correct. The 
Valley of Kashmir was formed in a synclinorium. The Indo-
Gangetic basin is an active foreland basin having east-west 
elongated shape. The basin formed in response to the uplift 
of Himalaya after the collision of India and China plates 
(Dewey and Bird, 1970). Suess (1893-1909) was the fi rst 
geologist to suggest that the Indo-Gangetic depression is a 
‘fore-deep’ and was formed in front of the high crust-waves 
of the Himalayas as their southward migration was resisted 
by the rigid landmass of the Peninsula.
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Thus statement (3) is also correct. The Himalayan mountain 
range and Tibetan plateau have formed as a result of the 
collision between the Indian plate and the Eurasian plate. 
Chinese plate is not mentioned in the theory of plate tectonics. 
Thus statement (4) is wrong.

6.  Which of the following statement is incorrect ?                                                                                         
 (a) Geologically Peninsula region is India’s most ancient 

part.
 (b) Himalaya mountains demonstrate the most newly 

developed folded mountains in the world.
 (c) The Western coastline of India is formed by the 

deposition process of the rivers.
 (d) Gondwana rocks have the largest reserve of coal in 

India.
U.P. Lower Sub. (Pre) 2004

Ans. (c)

The Western coastline of India is not formed by the deposition 
process of the rivers. In fact, it is  formed by submergence 
and emergence of the land . Gondwana rocks have the largest 
reserve of coal in India. Himalaya is the newly developed 
folded mountain. Geologically, Peninsular region is the most 
ancient part of India. Thus statement (c) is incorrect.

7.  Match List I with List II and select the correct answer:
      List-I  List-II  
 A. Deccan Traps 1. Late Cenozoic 
 B. Western Ghats 2. Pre-Cambrian
 C. Aravalli 3. Cretaceous Eocene
 D. Narmada-Tapti  4. Cambrian
      alluvial deposits  
  5. Pleistocene 
 Code :
  A   B C D
 (a)  3  5 1 4
 (b)  3  1 2 5
 (c)  2  1 3 4
 (d) 1  4 2 5

I.A.S. (Pre) 1997
Ans. (b)

The correctly matched order is :
The origin of the Deccan Traps   - Cretaceous Eocene
Origin of Western Ghats             - Late Cenozoic period
Origin of Aravalli Mountain         - Pre-Cambrian
Narmada-Tapi alluvial deposits      - Pleistocene period

8.  Kuttanad (or Kuttanadu) of Kerala is famous for :
 (a) A freshwater lake
 (b) The region with the lowest altitude in India
 (c) A coral island
 (d) The westernmost point of India

U.P.P.C.S. (Mains) 2015
Ans. (b) 

Kuttanad (or Kuttanadu) of Kerala is famous for its lowest 
altitude in India. Kuttanad is called the Rice Bowl of Kerala. 
Here farming is (4 to 10 ft.) practiced 1.2 to 3.0 meters below 
sea level. FAO has declared the Kuttanad farming system as 
a globally important Agriculture Heritage System.

9.  Which of the following is a desert region?
 (a) Sindhu area
 (b) Gangetic area
 (c) Assam area
 (d) Central India area

M.P. P.C.S. (Pre) 2018
Ans. (a)

The Sindhu area or the Indus Valley Region is a desert region 
located in the Northwestern Punjab Province (Pakistan). 

10.  Which one of the following districts does not have 
Dharwar geological formations?

 (a) Munger (b) Rohtas
 (c) Jamui (d) Nawada
 (e) None of the above/More than one of the above.

65th B.P.S.C. (Pre) 2019
Ans. (b)

Rohtas District does not have Dharwar geological forma-
tions. District having Dharwar land level composition in 
Bihar come under South-East Bihar. These are Munger, 
Nawada and Jamui districts. Whereas Rohtas is a part of 
South-West Bihar. Vindhyan type of ground level for-
mation is found in this area. In Bihar, Vindhyan ground 
level formation is found in Kaimur and Son river valley 
(Rohtas).

11.  Which of the following rock systems in India is the 
latest one?

 (a) Vindhyan (b) Cuddapah
 (c) Dharwar (d)  Gondwana

U.P.P.C.S. (Pre) 2016
Ans. (d)
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The rocks of the Dharwar order were formed by the 
transformation or faulting of the rocks of the Archean 
order. These rocks are highly metallic, in which minerals 
like gold, Iron, Manganese, Mica, Cobalt, Chromium, 
Copper, Tungsten, Lead etc. are obtained. The Cuddapah 
Rock System were formed after the rocks of the Dharwar 
sequence. Limestone, Sandstone, Sugar clay, and Black soil 
are found in them. The rocks of the Gondwana sequence 
were formed long after the rocks of the Vindhya sequence. 
Most of India's coal is obtained from the Gondwana region 
only. The coal of this area is of high graded. Maximum 
Bituminous coal is obtained here.

12.  Read the following statements and choose the correct 
option :

 Statement - I   : J.D. Dana prepared a special Geological 
Time Scale to indicate the geological history of Indian 
subcontinent rocks

 Statement - II : As per Geological Time Scale, Indian 
rocks are subdivided into Archaean, Puranic, Dravidian 
and Aryan periods

 (a) Statement - I and Statement - II both are true
 (b) Statement -I and Statement - II both are false
 (c) Statement - I is true but Statement - II is false
 (d)  Statement - I is false but Statement - II is true

 Chhattisgarh P.C.S. (Pre) 2021
Ans. (d)

J.D. Dana's 'Manual of Geology' is a source of information 
regarding the geology of America.The term Archaean was 
introduced by J.D. Dana to designate the geological forma-
tions older than the Cambrian period. Sir T.S. Holland of the 
Geological Survey of India has classifi ed rock system of the 
country into Archaean, Purana, Dravidian and Aryan periods.

13.  Ganga Plain has been described as a :
 (a) pediplain (b) peneplain
 (c) geosyncline (d)  karst plain
 (e) None of the above / More than one of the above.

67th B.P.S.C. (Pre) 2022
Ans. (c)

Geosyncline is an obsolete concept which means linear trough 
of subsidence of the Earth's crust within which vast amounts 
of sediment accumulate. Ganga Plain can be best described 
as a geosyncline. Peneplain means a more or less level land 
surface produced by erosion over a long period. Pediplain is 
a broad, relatively fl at rock surface formed by the joining of 
several pediments. Pediplains are usually formed in arid or 
semi-arid climates and may have a thin veneer of sediments. 
Karst plain can be best described as limestone plain.

14.  Which one of the following statements about the Indian 
desert is/are correct?

 (a) The Indian desert lies towards the western margins of 
the Arvali Hills

 (b) This region receives very low rainfall below 150 mm 
per year 

 (c) Luni is the only large river in this region
 (d)  All the above.

Chhattisgarh P.C.S. (Pre) 2023
Ans. (d)

The Indian desert is popularly known as the Thar desert. 
The Indian desert lies towards the western margins of the 
Aravalis hills. It is an undulating sandy plain covered with 
sand dunes. This region receives very low rainfall below 
150 mm per year. It has arid climate with low vegetation 
cover. Luni is the only large river in this region. Hence all 
three statements are correct.

ii. Northern Mountainous Region
Himalaya is the highest mountain range in the World. 
*Himalaya spreads to a length of 2400 km and forms an arc.
Its width is 400 km in Kashmir and 150 km in Arunachal 
Pradesh. We see more variation in Himalayan heights in the 
western part than the eastern region.
*Himalayas can be divided into 3 parallel structural regions-
1. Great Himalaya (Himadri)
2. Middle Himalaya ( Lesser Himalaya)
3. Outer Sub-Himalaya (Shiwalik)
*Great Himalaya is the oldest range, formed in Eocene and 
Oligocene epoch (24-37 million years ago). Afterwards, 
middle Himalaya was formed in mid Miocene epoch (5-24 
Million years ago) and Shivalik, the earliest one was formed 
in Pliocene epoch (2-5 Million years ago).
*Mountain Range situated in the northern part of Himalayas 
is called Great or Higher Himalayas or Himadri. It is the 
most continuous range which has the highest peaks with an 
average height of more than 6000 meters.
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*Mt. Everest is the highest peak of the World located in Great 
Himalayas. It is located on the boundary of Nepal and Tibet. 
*Kanchenjunga, the third highest Peak of the world, lies in 
the Himalaya. It lies between Teesta River in the east and 
Tamur River in the west. Kanchenjunga lies on the border of 
eastern Nepal and Sikkim state of India. *Annapurna Peak 
is located in North - central Nepal. Dhaulagiri Peak also 
lies in the middle of Nepal.
The core of this part of Himalaya is made up of Granite.
This range is always covered with snow. The Himalayas 
contain a number of Glaciers, therefore Himalayan Rivers 
are perennial. Ranges situated in the south of Great Himalaya 
are called lesser Himalaya/ middle Himalaya. Its height lies 
between 3700 meter and 4500 meter and average width is 50 
km. Pir Panjal is the longest range in the middle Himalayas. 
Dhauladhar and Mahabharat Ranges are also important. 
Kashmir valley, Kangra and Kullu Valleys of Himachal 
Pradesh are located in this range.
*Outermost range of Himalayas is called Shiwalik. Its width 
is  between 10 to 50 km and height between about 900m to 
1100m. These ranges are formed by - unconsolidated sediments 
brought by Rivers from Great Himalaya. *Longitudinal valley 
lying in between the lesser Himalaya and the Shiwaliks are 
called duns. *Some famous duns are - Dehradun, Kotlidun and 
Patlidun. *The plain which lies in the foothills of Shiwalik and 
longitudinally between Indus in the west and Teesta in the east 
is called Bhabar. Bhabar is a narrow belt of land about 8 to 
16 km wide covered with pebbles deposited by the rivers and 
lying parallel to the slopes of the Shiwaliks. 
It is an alluvial fan structure made of riverine deposits.
The width of Bhabar plain is more in the east than the 
west. *Tarai is a 15-30 kilometer wide marshy area south 
of Bhabar. Trans Himalaya is located to the north of Great 
Himalaya. Pamir knot is also located in Trans Himalaya 
(Tibet). Karakoram mountain range is a part of Trans- 
Himalaya. Kailash mountain, holy shrine of Hindu religion, 
also lies in the western part of Trans - Himalaya.
*Himalaya is divided into various sub-regions west to east. 
These divisions are based on the borders of river valleys. 
The Kashmir/Punjab/Himachal Himalayas lies between 
Indus and Sutlej rivers. Kumaon Himalayas lies between 
Satluj and Kali rivers. Nepal Himalaya lies between Kali 
and Teesta rivers. Assam/Eastern Himalayas lies between 
Teesta and Dihang rivers.
*Brahmaputra River forms the easternmost boundary of 
Himalaya. Himalaya spreads along the eastern border of India 

after crossing Dihang Gorge in the south. These expansions 
are called Purvanchal or Eastern Hills. These are located in 
North-Eastern states of India.
The eastern extension of Himalaya includes Dafl a hills, 
Mishmi hills, Abor hills, Patkai hills, Naga hills, Mizo 
hills and Manipur hills.

1. Consider the following statements and select the correct 
answer from the code given below :

 Assertion (A) : All rivers originating  from the 
Himalayas are perennial.

 Reason (R) : Himalayas receive much of their 
precipitation from South-Western 
monsoon.

 Code :
 (a) Both (A) and (R) are true, and (R) is the correct 

explanation of (A)
 (b) Both (A) and (R) are true, but (R) is not the correct 

explanation of (A)
 (c) (A) is true, but (R) is false
 (d) (A) is false, but (R) is true

U.P.P.C.S. (Mains) 2011
Ans. (b)

The rivers originating from the Himalayas are perennial 
because their source is located in the Himalayan glaciers. The 
Himalaya receives much of it's rain from the south-western 
monsoon. Assertion and Reason both are true. However 
Reason (R) does not explain the Assertion (A) correctly.

2. Consider the following statements and select the correct 
answer from the code given below :

 Assertion (A) : All rivers originating  from the 
Himalayas are perennial.

 Reason (R) : Source of Himalayan rivers is 
located in glaciers. 

 Code :
 (a) (A) is false, but (R) is true
 (b) Both (A) and (R) are true, and (R) is the correct 

explanation of (A)
 (c) Both (A) and (R) are true, but (R) is not the correct 

explanation of (A)
 (d) (A) is true, but (R) is false.

R.A.S./R.T.S. (Pre) (Re. Exam) (2013)
Ans. (b)

See the explanation of the above question.
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3.  The Himalayas are formed of parallel fold ranges, of 
which the oldest range is –

 (a) The Shiwalik Range
 (b) The Lesser Himalayas 
 (c)   The Great Himalayan Range 
 (d)  The Dhauladhar Range

I.A.S. (Pre) 1994
Ans. (c)

On the basis of folds and age of formation, the Himalayas is 
divided into four parallel structural areas -
1. Trans Himalaya
2. Great Himalaya
3. the Middle Himalayas 
4. Shiwalik
 According to the above options Great Himalaya is the oldest 
range of  Himalayas (Oligocene Epoch-24-37 million years 
ago). After this, the Middle Himalayas (mid-Miocene- 5-24 
million years ago) and Shiwalik (Pliocene Epoch- 2-5 million 
years ago) the newest range among them was formed.

4.  If there were no Himalayan ranges, what would have 
been the most likely geographical impact on India?

 1. Much of the country would experience the cold 
 waves from Siberia.

 2. Indo-gangetic plain would be devoid of such 
 extensive alluvial soils.

 3. The pattern of monsoon would be diff erent from 
 what it is at present. 

 Which of the statements given above is/are correct?
 (a) 1 only (b) 1 and 3 only
 (c) 2 and 3 only (d)  1, 2 and 3

I.A.S. (Pre) 2010
Ans. (d)

If the Himalayan mountain range did,nt exist, most of India 
would have experienced cold waves coming from Siberia, 
the Indo-Gangetic Plain would have been deprived of such 
elaborative alluvial soil and the monsoon pattern would 
have been diff erent from the present pattern. Signifi cantly, 
the Himalays infl uence the monsoon pattern as they eff ec-
tively intercept the summer monsoons coming from the Bay 
of Bengal and Arabian sea. It leads to precipitation in the 
snow of rain. Also, the Indus, Ganga's and their tributaries 
fl owing from the Himalayan region create alluvial plains 
through erosion and deposition.

5.  The fl at plains along the sub-Himalayan region in 
North India, are called –

 (a) Tarai (b) Doon

 (c) Khadar (d) Bhabar
U.P.P.C.S. (Pre) 2007

Ans. (d)

The fl at plains along the sub-Himalayan region in North India, 
are called Bhabar. It is a narrow belt only 8 to 16 kms in width 
and lying parallel to the Shiwalik foothills at the break-up of 
the slope. This zone is studded with pebbles and it consists 
of porous beds which have been laid down by the numerous 
streams as they descend down the hills. The porosity is so 
high that all streams lose themselves in the Bhabar. South 
of the Bhabar is the Tarai belt, with an approximate width 
of 15-30 km where most of the streams and rivers re-emerge 
without having any properly demarcated channel, thereby, 
creating marshy and swampy conditions known as the Tarai. 
This has a luxurious growth of natural vegetation and houses 
a varied wildlife.

6.  The foothills region of Himalayas is –
 (a) Trans-Himalayas (b) Shiwalik
 (c) Great Himalayas (d) Aravali

43rd B.P.S.C. (Pre) 1999
Ans. (b)

The foothills region of the Himalaya is called Shiwalik. These 
are the outer most range of the Himalayas . They extend over 
a width of 10-50 km and have an altitude varying between 900 
to 1100 meters. These ranges are composed of unconsolidated 
sediments brought down by rivers from the main Himalayan 
ranges located farther north.

7.  Shiwalik Hills are part of which of the following?
 (a) Aravali (b) Western Ghats
 (c) Himalaya (d) Satpura

M.P.P.C.S. (Pre) 2013
Ans. (c)

See the explanation of the above question.

8. Shiwalik series was formed in –
 (a) Eozoic (b) Paleozoic
 (c) Mesozoic (d) Cenozoic

42nd B.P.S.C. (Pre) 1997
Ans. (d)

Shiwalik or outer Himalaya has formed approximately 2-5 
million years ago  in Pliocene Epoch means in Cainozic Era.

9.  The outer-most range of the Himalayas is called as :
 (a) Shiwaliks (b) Kumaon Himalayas
 (c) Kashmir Himalayas (d)  None of the above

Chhattisgarh P.C.S. (Pre) 2023
Ans. (a)

See the explanation of the above question.
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10.  The outer-most range of the Himalayas is called as :
 (a) Shiwaliks (b) Kumaon Himalayas
 (c) Kashmir Himalayas (d)  None of the above

Chhattisgarh P.C.S. (Pre) 2023
Ans. (a)

See the explanation of the above question.

11. The altitude of Shiwalik peaks fall in between –
 (a) 850 – 1200 Mts (b) 750 – 1100 Mts
 (c) 750 –1500 Mts (d) 750 – 1300 Mts

Uttarakhand P.C.S. (Pre) 2010
Ans. (*)

Shiwalik  range, spread over about 2500 km is the southern 
range of Himalaya. Its average altitude is 900-1100 meters. 
Although there is regional variation in the height of the 
Shiwalik ranges.

12. The Kumaon Himalaya is situated between which of 
the rivers?

 (a) Indus and Satluj 
 (b) Kali and Tista
 (c) Satluj and Kali 
 (d) Tista and Brahmputra

U.P. R.O./A.R.O. (Pre) (Re-Exam) 2016
Ans. (c)

The Kumaon Himalaya is situated between the Satluj and 
Kali rivers. The geographic Himalayas' part between the 
Indus and Satluj rivers is called the 'Punjab Himalayas', the 
Himalayas between the Kali and Teesta rivers as the 'Nepal 
Himalaya' and the one between the Teesta and Dihang rivers 
is known as 'Assam Himalayas'.

13. The south of 'Shiwalik' rock series, Bhabar region is 
an example of -

 (a) Midland Situation. 
 (b) Intermountain situation.
 (c) Piedmont situation. 
 (d) Littoral Region.

U.P.P.C.S. (Pre) 1994
Ans. (c)

Bhabar region is a narrow belt ranging between 8-16 km 
parallel to the Shiwalik foothill at the break-up of the slope. 
As a result of this, the stream and rivers coming from the 
mountains deposits heavy material of rock and boulders.  
South of Bhabar is a Tarai belt with an approximate width 
of 15-30 km. Bhabar in the Southern region of Shiwalik is 
an example of the Piedmont situation.

14.  Correctly match the following :
            (I)        (II)
 A. North-Western Himalayas 1. Zaskar
 B. Himachal and Uttarakhand 2. Shivalik
  Himalaya  Range
 C. Darjeeling and Sikkim  3. Namcha Barwa
  Himalaya
 D. Arunachal Himalaya 4. Lepcha tribe
 Code :
  A B C D
 (a) 1 2 3 4 
 (b) 2 1 3 4
 (c) 2 1 4 3
 (d)  1 2 4 3

Chhattisgarh P.C.S. (Pre), 2022
Ans. (d)

Correct matchis following -
            (I)        (II)
 North-Western Himalayas Zaskar
 Himachal and Uttarakhand Shivalik Range
 Himalaya 
 Darjeeling and Sikkim  Lepcha tribe
 Himalaya
 Arunachal Himalaya Namcha Barwa

15.  When you travel in Himalayas, you will see the 
following 

 1. Deep gorges
 2. U-turn river courses
 3. Parallel Mountain ranges
 4. Steep gradients causing landsliding 
 Which of the above can be said to be the evidences for 

Himalayas being young fold mountains ?
 (a) 1 and 2 (b) 1, 2 and 4
 (c) 3 and 4 (d) 1, 2, 3 and 4

I.A.S. (Pre) 2012
Ans. (d)

All the above features are said to be an evidence for Himalayas 
being young folded mountain . Deep gorges , U- turn river 
courses, Parallel Mountain Ranges and steep gradient causing 
land sliding are very common views on Himalayas.

16.  Examine the map of Jammu and Kashmir given below:
 The mountains ranges marked 1,2,3 and 4 respectively:
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 (a) Ladakh, Zanskar, Karakoram and Pir Panjal
 (b) Karakoram, Pir Panjal, Zanskar and Ladakh
 (c) Karakoram, Ladakh, Zanskar and Pir Panjal
 (d) Ladakh, Pir Panjal , Karakoram and zanskar

I.A.S. (Pre) 1995
Ans. (c)

The mountain ranges marked 1,2,3 and 4  on the map of 
Jammu and Kashmir are :-
1. Karakoram ranges 
2. Ladakh ranges 
3. Zanskar  ranges
4. Pir Panjal

17.  The Lesser Himalaya is located between-
 (a) Trans Himalaya and Great Himalaya
 (b) Shiwalik and Great Himalaya
 (c) Trans Himalaya and Shiwalik 
 (d) Shiwaliks and Outer Himalaya

Uttarakhand P.C.S. (Pre) 2006
Ans. (b)

The Himalayan Range consists of parallel mountain ranges. 
It includes Great Himalayas, Trans Himalayan range, 
Middle Himalaya and the Shiwalik. The mountain range 
which runs parallel between the Shiwalik in the south 
and the Great Himalayas in the north is classifi ed as the 
Middle Himalayas, sometimes also called Lesser Himalaya 
or Himachal or Lower Himalayas. It has an intricate system of 
ranges that have an average width of 50 km having elevation 
varying from 3,700 to 4,500 m above sea level. Pir Panjal, 
the Dhauladhar, the Mussoorie Range, the Nag Tibba and 
Mahabharat are some of the important ranges of the Middle 
Himalaya.

18.  Which of the following is the correct order of the 
Himalayan Ranges from south to north in the western 
section ?

 (a) Great Himalaya-Lesser Himalaya-Shiwalik
 (b) Shiwalik-Lesser Himalaya-Great Himalaya
 (c) Lesser Himalaya-Great Himalaya-Shiwalik
 (d) Shiwalik-Great Himalaya- Lesser Himalaya
 (e) None of these

Chhattisgarh P.C.S. (Pre) 2015
Ans. (b) 

The correct order of Himalayan Ranges in the western section 
from south to north is the Shiwalik-Lesser Himalaya-Great 
Himalaya.

19. Which one of the following is the youngest mountain 
chain ? 

 (a) Vindhyas (b) Aravalli 
 (c) Shiwaliks  (d) Annamalai 

U.P. U.D.A./L.D.A. (Pre) 2010
Ans. (c)

The Shiwalik Himalaya formed in the last stage of formation 
of Himalaya, thus they are considered as the youngest 
mountain range. It comprises the outermost range of the 
Himalayas and is also known as outer Himalayas. Flat 
scraps, anticlinal crests and synclinal valleys are the chief 
characteristics of this range. The Shiwaliks are formed  
of great thickness of Mio-Pleistocene sand, gravels and 
conglomerates which have been brought by the rivers fl owing 
from the higher ranges of the Himalayas. These have been 
folded and faulted by the earth movements. Shiwaliks have a 
diff erent names in diff erent areas like Jammu Hills in Jammu. 
Dafl a, Miri, Abor and Mishmi Hills in Arunachal Pradesh.

20.  Consider the following relief features –
 1. Zaskar Range
 2. Dhauladhar Range
 3. Ladakh Range
 4. Karakoram Range
 The correct south to the northward sequence of the 

above relief features is 
 (a) 2, 1, 3, 4 (b) 2, 3, 4, 1
 (c) 4, 3, 2, 1 (d) 4, 2, 1, 3

Jharkhand P.C.S. (Pre) 2013
Ans. (a)

From south to northward, the correct sequence of above 
options is: Dhauladhar Range, Zaskar (Zanskar) Range, 
Ladakh Range and Karakoram. Karakoram, Ladakh 
and Zaskar Ranges are related to trans Himalaya while 
Dhauladhar Range is situated in Lesser or Middle Himalaya .

21.  Which one of the following is the correct northward 
sequence of the relief features?

 (a) Zaskar Range, Pirpanjal Range, Ladakh Range, 
Karakoram Range

 (b) Pirpanjal Range, Zaskar Range, Ladakh Range, 
Karakoram Range

 (c) Karakoram Range, Ladakh Range, Zaskar Range, 
Pirpanjal Range

 (d) Pirpanjal Range, Ladakh Range, Zaskar Range, 
Karakoram Range

R.A.S./R.T.S. (Pre) 2013
Ans. (b)
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The correct northward sequence of the relief features is - 
Pirpanjal Range, Zaskar Range, Ladakh Range, Karakoram 
Range. Pirpanjal Range is situated in Middle Himalaya while 
remaining are related to Great Himalaya . Thus, option (b) 
is the correct answer.

22.  Which one of the following groups is the correct 
sequence of mountain peaks from east to west?

 (a) Everest, Kanchenjunga, Annapurna, Dhaulagiri
 (b) Kanchenjunga, Everest, Annapurna, Dhaulagiri
 (c) Kanchenjunga, Dhaulagiri, Annapurna, Everest
 (d) Everest, Kanchenjunga, Dhaulagiri, Annapurna

Uttarakhand P.C.S. (Pre) 2012
Ans. (b)

The correct sequence of mountain peaks from east to west is: 
Kanchenjunga, Everest, Annapurna, Dhaulagiri. Kanchenjunga 
is the third tallest mountain in the world. Three of the fi ve 
summits of the Kanchenjunga (main, central, and south) are 
situated on the boundary of the North Sikkim district in Sikkim, 
India and the Taplejung District in Nepal. The two other peaks 
are entirely situated in Taplejung District. Mt. Everest is the 
tallest mountain in the world above sea surface. The elevation 
of Mount Everest is 8,848 meters (Now 8848.86 m). The peak 
is situated in the Himalayas on the border of Nepal and China, 
which is also known as the Sagarmatha Zone. The Annapurna 
region is an area in north central Nepal where some of the most 
popular treks are located. Dhaulagiri Peak is also located in 
West Central Nepal, west of Annapurna peak.

23.  Which mountain range amongst the following is latest 
in origin?

 (a) Ajanta range (b) Palkonda range
 (c) Kaimur Hills (d) Patkai range

R.A.S./R.T.S. (Pre) 1996
Ans. (d)

Patkai Range is originated in the tertiary era. Remaining all 
ranges/hills are situated in South and Central India . Thus 
the latest  mountain range is Patkai Range.

24.  Which one of the following states does not lie along 
Patkai hills?

 (a) Nagaland (b) Tripura
 (c) Manipur (d) Mizoram

U.P.P.C.S. (Mains) 2015
Ans. (b) 

The Patkai hills are situated on India's north-eastern border 
with Myanmar. The Indian states along Patkai hills are 
Assam, Manipur, Meghalaya, Mizoram and Nagaland. 
Tripura does not lie along Patkai hills. Mizo hills stretch 
through Mizoram and Tripura. 

25.  Pir Panjal Range is located/found in-
 (a) Arunachal Pradesh (b)  Jammu and Kashmir
 (c)  Punjab (d)  Uttarakhand

U.P.P.C.S. (Mains) 2007
Ans. (b)

Pir Panjal Range is located in Middle Himalaya. It is spread 
in Himachal Pradesh and Jammu and Kashmir from south 
east to north west.

26. Consider the following statements regarding 'Atal 
Tunnel' Which of them is / are correct?

 1. It was built by the Border Roads Organisation.
 2. It connects Manali and Lahaul Spiti Valley
 3. It is located across Pir-Panjal Range of Himalayas
 4. It is strategically important for India
 Choose the correct answer from the code given below.
 Code :
 (a) Only 1 and 2  (b) Only 2 and 3
 (c) Only 1, 2 and 4 (d) All 1, 2, 3 and 4

U.P. R.O./A.R.O. (Mains) 2016
Ans. (d)

Atal tunnel is across Eastern Pir Panjal range. It connects 
Manali and Lahaul-Spiti Valley. It is 9.02 km long and was 
built by Border Roads Organisation (BRO). The tunnel 
reduces the distance by 46 km between Manali and Leh and 
the travel time by about 4 to 5 hours. Strategically, it provides 
better connectivity to the armed forces in reaching Ladakh.

27.  What is the length of the Atal Tunnel, Rohtang. 
Himachal Pradesh?

 (a) 8.02 km (b) 9.02 km
 (c) 1002 km (d)  1102 km
 (e) None of the above / More than one of the above

67th B.P.S.C. (Pre) 2022
Ans. (b)

See the explanation of the above question.

28. Atal Tunnel is across which one of the following 
Himalayan ranges?

 (a) Zanskar
 (b) Western Pir Panjal
 (c) Ladakh
 (d) Eastern Pir Panjal
 (e) None of the above/More than one of the above

66th B.P.S.C. (Pre) 2020
Ans. (d)

See the explanation of the above question.
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29.  Between which two mountain ranges is the Valley of 
Kashmir situated?

 (a) Ladakh and Zanskar
 (b) Great Himalayas and Pir Panjal
 (c) Great Himalayas and Zanskar
 (d) Karakoram and Ladakh

M.P.P.C.S (Pre) 2016
Ans. (b)

The Kashmir Valley is bounded on the southwest by Pir 
Panjal Range and on the north-east by Great Himalayan 
(Himadri) Range.

30. Valley of Kashmir is situated between:
 (a) Kangara and Dhauladhar ranges
 (b) Pir Panjal and Himadri ranges
 (c) Mahabharat and Dhauladhar ranges
 (d) Pir Panjal and Mahabharat ranges

U.P. P.C.S. (Pre) 2020
Ans. (b)

See the explanation of the above question.

31.  Which of the following is a part of Aksai Chin region: 
 (a) Karakoram Range 
 (b)  Shiwalik Range
 (c) Kashmir Valley 

 (d) Ladakh Plateau
U.P.P.C.S. (Pre) 1995

Ans. (d)

Aksai Chin is spread over about 3800 square kilometers in  
Ladakh region. It is an Indian territory under the occupation 
of China.

32.  What is the height of Great Himalaya ?
 (a) 8850 m Above sea level
 (b)  8815 m Above sea level
 (c)  8890 m Above sea level
 (d)  8860 m Above sea level

Jharkhand P.C.S. (Pre) 2011
Ans. (a)

The average height of the Great Himalaya is about 6000m while 
the height of its highest peak, Mount Everest is  approximately 
8850 m. Note : Nepal and China Jointly announced the new 
hight of Mount Everest as 8848.86 meters.

33.  Himachal stands for -
 (a) The Great Himalaya (b) The Middle Himalaya
 (c) Shiwalik (d) Trans-Himalaya

U.P.P.C.S. (Spl) (Mains) 2008
Ans. (b)

The Middle Himalayas forms the most intricate and rugged 
mountainous system, with an average width of 50 km and 
elevation 3700-4500m. Its Vedic name is Himachal. Most of 
the hill stations like Shimla, Nainital, Mussoorie are located 
in this range.

34.  Consider the following statements:
 1. In India, the Himalayas are spread over fi ve States 

only.
 2. Western Ghats are spread over fi ve States only.
 3. Pulicat Lake is spread over two states only.
 Which of the statements given above is/are correct?
 (a) 1 and 2 only (b) 3 only
 (c) 2 and 3 only (d) 1 and 3 only

I.A.S. (Pre) 2017 
Ans. (b)

The Himalayas are spread over most of the northern and 
north-eastern States & UTs i.e., Jammu & Kashmir, Ladakh,  
Himachal Pradesh, Uttarakhand, Sikkim, Arunachal Pradesh, 
Meghalaya, Nagaland, Manipur, Mizoram and Tripura. 
Besides these, mountain range of Assam and West Bengal 
are also part of the Himalayas. So, Himalayas are spread over 
more than fi ve states. The Western Ghats are spread over the 
states of Gujarat, Maharashtra, Goa, Karnataka, Tamil Nadu 
and Kerala i.e., 6 states. Pulicat lake is second largest (after 
Chilika lake) lagoon in India, straddles the border of Tamil 
Nadu and Andhra Pradesh. Therefore statements 1 and 2 are 
wrong and statement 3 is correct.

35.  The Himalayan Mountain Ranges are not a part of 
which of the following states?

 (a) Uttarakhand (b) Uttar Pradesh
 (c) Sikkim (d) Himachal Pradesh

M.P.P.C.S. (Pre) 2012
Ans. (b)

The Indian Himalayan Region (IHR) spreads across 9 
states (administrative regions) namely, Himachal Pradesh, 
Uttarakhand, Sikkim, Arunachal Pradesh, Meghalaya, 
Nagaland, Manipur, Mizoram, Tripura & 2 UTs - Jammu and 
Kashmir and Ladakh and hill regions of 2 states viz. Assam 
and West Bengal. On the other hand the expansion of Uttar 
Pradesh lies only in the plain regions. So the Himalayan 
Mountain Ranges are not a part of Uttar Pradesh .

36.  Which of the following ranges is the most recent one?
 (a) Aravallis (b) Vindhyachal Range
 (c) The Himalayas (d)  The Eastern Ghats

Chhattisgarh P.C.S. (Pre) 2018
Ans. (c)
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The Himalayan range is an example of a young folded 
mountain range and is the most youngest range among 
the given options. The Aravalli Range is the most ancient 
mountain range in India. Notably, the Great Himalayas is 
also called the Himadri range.

37. Which one of the following is the youngest mountain 
range of India?

 (a) Himadri Range (b) Aravalli Range
 (c) Western Ghat  (d) Vindhya Range

U.P. P.C.S. (Pre) 2020
Ans. (a)

The Himadri Range is an example of the new fold mountain 
and is the youngest mountain range in India among the above 
mentioned options. Aravalli range is the oldest mountain 
range in India.

38.  Given below are two statements, one is labelled as 
Assertion (A) and the other as Reason (R).

 Assertion (A) : The highest concentration of Seismic 
zones lies in Himalayan region in India.

 Reason (R) : There are many longitudinal thrust zones 
in Himalayas.

 Codes :
 (a) Both (A) and (R) are true and (R) is the correct 

explanation of (A)
 (b) Both (A) and (R) are true, but (R) is not the correct 

explanation of (A)
 (c) (A) is true, but (R) is false
 (d)  (A) is false, but (R) is true

U.P. P.C.S. (Pre) 2019
Ans. (a)

The highest concentration of seismic zones in India lies 
in the Himalayan region. Most of the area lies in seismic 
zone IV and V. Under this region, the area of Northeast 
India, Jammu and Kashmir, Ladakh, Himachal Pradesh 
and Uttarakhand is included. So we can say that the highest 
concentration of Seismic zones lies in Himalayan region in 
India. Hence statement (a) is correct.
Many longitudinal thrusts and faults lie in the Himalayas. 
Main frontal thrust (MFT) lies when moving from south 
to north. Between MFT and MBT (Main Boundary Fault) 
there is extension of Sub-Himalayan (Shiwalik). Between 
MBT and MCT (Main Central Thrust) there is an extension 
of lesser Himalayas. Above this is the extension of Greater  
Himalayas, which is also known as the CCZ (Central 
Crystalline Zone). HHC (Higher Himalayan Crystalline) is 
located above the MCT Tibet Himalaya is situated between 
HHC and STDS (South Tibetan Detachment System). The  

Himalaya lies to the north of ITSA Due to the location 
of the reverse region and the Himalayan geographical 
structure, it becomes the most concentrated earthquake 
zone in India. Due to the operation of plates in this area, it 
is an earthquake-prone area.

39.  'Imphal Basin' surrounded by Manipur hills is a fi ne 
example of -

 (a) Lacustrine plain (b) Loess plain
 (c) Glacial plain (d) Alluvial plain

U.P.P.C.S. (Pre) 2019
Ans. (a)

Due to the existence of a lake in the past, the plain formed 
by sediment deposition is called lacustrine plains. Kashmir 
valley and Imphal basin are the best examples of this.

40.  With reference to the Himalayan range, which of the 
statements is/are correct?

 1. The sedimentary rocks of the greater Himalayas 
were fossil less.

 2. Marine livings fossils are found in the sedimentary 
rocks of lesser Himalayas.

 3.  Remains of human civilization are found in outer 
or Shiwalik Himalayas.

 Select the correct answer using the codes given below: 
 (a) 1 and 2 only (b) 2 and 3 only
 (c) 1 and 3 only (d) 1, 2 and 3 are correct

U.P.P.C.S. (Pre) 2019
Ans. (b)

Marine living fossils are found in the sedimentary rocks of 
lesser Himalayas, is the correct statement. 
Remains of human civilization are found in outer, or Shiwalik 
Himalayas is also a correct statement.
The sedimentary rocks of Himalayas fossil less is incorrect 
statement as the sedimentary rocks of greater Himalayas 
have fossils in it.
Statements (2) and (3) are right while statement (1) is wrong. 
So, the correct answer to this question is option (b).

41.  In which part of Himalayas is 'Karewa' landform 
found?

 (a) North-East Himalaya
  (b) Eastern Himalaya
 (c) Himachal-Uttarakhand Himalaya
 (d) Kashmir Himalaya

M.P.P.C.S. (Pre) 2019
Ans. (d)

In Kashmir Himalayas, landform found is known as 'Karewa'. 
A succession of plateaus is present above the plains of Jhe-
lum and its tributaries. These plateau like terraces are called 
'Karewas' or 'Vuhr' in the local language. 
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42.  Consider the following statements :
 A. The Kashmir Himalayas are famous for 'Karewa' 

 formations.
 B. Nalagarh Dun is the largest of all Duns.
 C. Namcha Barwa mountain peak is located in 

 Arunachal, Himalayas.
 D. 'Valley of Flowers" is situated in Himachal and 

 Uttarakhand, Himalayas.
 Code :
 (a) A, B, C and D are correct
 (b) B and C are correct
 (c) A, C and D are correct
 (d)  A, B and C are correct
 (e) Question not attempted

Raj. P.C.S. (Pre) 2023
Ans. (c)

Karewa landform is found in the Kashmir-Himalaya. 
Notably, Kashmir Himalayas are famous for Karewa 
formations. Signifi cantly Nalagarh Dun is not the largest of 
all Duns. Notably Dehra Dun is the largest of all the duns.
It is worth mentioning that Namcha Barwa Moutains peak 
is located in the state of Arunachal Pradesh, Except this 
valley of fl owers is situated in Himachal and Uttarakhand, 
Himalaya.

43.  Mount Kailash is situated in which of the following 
area?

 (a) Sikkim (b) Tibet
 (c) Nepal (d) Uttarakhand

Jharkhand P.C.S. (Pre) 2021
Ans. (b)
Mount Kailash is located in the Tibet (China) region, it is 
known as the holy pilgrimage site of Hinduism.

44.  Which of the following mountain ranges are in the 
Himalayan mountains?

 1. Cho Oyu  2. Lhotse
 3. Annamalai  4. Sirumali
 Select the correct answer from the code given below:
 Code :
 (a) Only 1, 2 and 3 (b) Only 1 and 2
 (c) Only 2, 3 and 4 (d)  Only 3 and 4

U.P.P.C.S. (Pre) 2022
Ans. (b)

Cho Oyu and Lhotse are mountain ranges located in the Hi-
malayan mountain range, while Annamalai and Sirumali are 
mountain range.

iii. Mountain Ranges and Hills of 
South and Central India

The Peninsular Plateau is a tableland composed of old 
crystalline, igneous and metamorphic rocks. Delhi ridge in 
the northwest (extension of Aravallis), the Rajmahal Hills in 
the east, Gir Range in the west and Cardamom Hills in the 
south constitute the outer extent of the Peninsular Plateau. 
Shillong and Karbi-Anglong Plateau seen in the north-
east is a part of the Peninsular Plateau. *This Plateau was 
formed due to the breaking and drifting of the Gondwana 
land. Broad and shallow valleys and rounded hills are its 
special features. *It has two broad divisions, namely, the 
Central Highlands and the Deccan Plateau. *The part of 
Peninsular Plateau lying to the north of the Narmada river 
covering a major area of the Malwa Plateau is known as the 
Central Highlands. The Vindhyan Range is bounded by the 
Central Highlands in the South and Aravallis on the north-
west. The Aravalli range is a mountain range in Western India 
running approximately 800 km in the north-east direction 
across the states of Gujarat, Rajasthan and Haryana, ending 
in Delhi. It is formed in the Pre-Cambrian era. Its highest 
peak is Guru-Shikhar (1722m) located in Mt. Abu. It is 
an example of residual mountains. Residual mountains are 
remnants of old mountains which have been worn down by 
agents of denudation. The examples of Residual mountains 
are Vindhyachal, Aravalli, Satpura, etc. *The Deccan 
Plateau is a triangular landmass that lies to the south of the 
river Narmada. The Deccan Plateau is higher in the west and 
slopes gently eastwards. It is bordered by the Western Ghats 
in the west, the Eastern Ghats in the east and the Satpura, 
the Maikal range and the Mahadeo hills in the north. The 
Satpura range forms the northernmost boundary of the 
Deccan Plateau. It lies between the Narmada river in the north 
and the river Tapi in the south. It spreads across the states 
of Gujarat, Madhya Pradesh, Maharashtra and Chhattisgarh. 
Dhupgarh is the highest peak of the Satpura range located 
in Pachmarhi (M.P.).
*Western Ghat is locally known by diff erent names such as 
Sahyadri in Maharashtra, Nilgiri Hills in Karnataka and Tamil 
Nadu and Anaimalai (Annamalai) Hills and Cardamom Hills 
in Kerala. Western Ghat is comparatively higher in elevation and 
more continuous than the Eastern Ghat's. Their average elevation 
is about 1,200 m with the height increasing from North to South. 
Anaimudi (2695m) is the highest peak of Peninsular Plateau is 
located on the Anaimalai Hills of the Western Ghats followed 
by Doddabetta (2637m) on the Nilgiri Hills.
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*Nallamalla Hills lies between the Krishna and Pennar 
rivers of South India, stretched from north to south, parallel 
to the Coromandel coast on the Bay of Bengal. *Javadi Hill 
is located on the Eastern Ghats in the North Arcot district of 
Tamil Nadu. *Nilgiri Hills also known as Queen of Hills, is 
the meeting point of Eastern and Western Ghats. Dodabetta 
(2637m) is its highest peak. 

*Toda tribes of South India reside in these hills. *Anaimalai 
Hills is located on the borders of Kerala and Tamil Nadu. 
Its highest peak is Anaimudi. Nilgiri Hills spread across the 
states of Tamil Nadu, Kerala, and Karnataka. The Cardamom 
Hills are part of South Western Ghats located in the Southeast 
Kerala and South-west Tamil Nadu. It is called so because 
of large-scale production of Cardamom in the area. They 
conjoin the Anaimalai (Annamalai) Hills to the north-west, 
the Palni Hills to the north-east and the Agasthyamalai Hills 
to the South. *Shevroy Hills is located in Salem, a town in 
Tamil Nadu. It is a part of the Eastern Ghats. Yercaud, a 
famous hill station of Tamil Nadu, is located on these hills. 
Mahadeo Hills are part of the Satpura mountain range located 
in Madhya Pradesh. *Kaimur Hills extends from Madhya 
Pradesh to Bihar (Sasaram). *Garhjat Hills which is home 
to the Gond tribes is located in Odisha and Jharkhand. 
Balaghat range, Harishchandra range, and Satmala Hills 

are located in Maharashtra. Ajanta range completely falls 
in Maharashtra. Ramgiri Hills is located in the Peddapalli 
district of Telangana. It is a part of the Eastern Ghats. Maikal 
range is the eastern extension of the Satpura range. It is 
located in Chhattisgarh. Jindhagada Peak (1690m) is the 
highest peak of Eastern Ghats located in Andhra Pradesh.

1.  Which of the following is the oldest mountain range in 
India?

 (a) Himalaya (b)  Aravalli
 (c)  Vindhya (d)  Satpura

R.A.S./R.T.S. (Pre) 2003
M.P.P.C.S. (Pre) 1993

Ans. (b)

The Aravalli Range is a range of mountains in western India 
running approximately 800 km in north-eastern direction 
across the states of Gujarat, Rajasthan and Haryana, ending in 
Delhi. These are highly eroded hills and are found as broken 
hills. The Aravalli Range is the oldest fold mountains of the 
world. It was formed in the Precambrian Era. Its highest peak 
is Guru-Shikhar (1722 m.) 

2.  Which of the following mountain systems of India is 
the oldest?

 (a) Aravalli (b) Himalayas
 (c) Satpura (d) Nilgiri

U.P. P.C.S. (Mains) 2017
Ans. (a)

See the explanation of the above question.

3.  Among the following which mountain range is the 
oldest in India?

 (a) Nilgiri (b) Aravalli
 (c) Satpura (d) Western Ghat
 (e)  Himalaya

Chhattisgarh P.C.S. (Pre) 2016
Ans. (b)

See the explanation of the above question. 

4.  In which of the following states are the Aravalli Ranges  
located?

 (a) Rajasthan (b) Himachal Pradesh
 (c) Odisha (d) Andhra Pradesh

U.P.R.O./A.R.O. (Pre) 2014
Ans. (a) 

See the explanation of the above question.



CA–36 General Studies Indian Geography

5.  The oldest mountain range in India is:-
 (a) Aravalli (b) Himalaya
 (c) Shiwalik (d) Vindhya

U.P.P.S.C. (GIC) 2010
M.P. P.C.S. (Pre) 1995
U.P. P.C.S. (Pre) 1991

Ans. (a)

See the explanation of the above question.

6.  The approximate age of the Aravalli Range is:
 (a)  370 million years 
 (b)  470 million years
 (c)  570 million years 
 (d)  670 million years

I.A.S. (Pre) 2001
Ans. (c)

See the explanation of the above question.

7.  Which one of the following geographical regions is the 
oldest in the country?

 (a) Himalayan Mountainous Region
 (b) Great Plains of North India
 (c) Indian Peninsular Plateau 
 (d)  Eastern Coastal Plains
 (e) None of the above

Chhattisgarh P.C.S. (Pre) 2017
Ans. (c)

The Indian Peninsular Plateau is the oldest of the given geo-
graphical regions. It is formed due to weathering and runoff  
of Gondwana Land.

8.  Which of the following is the example of ‘Residual 
Mountain’ ?

 (a) Himalaya (b)  Kilimanjaro
 (c)  Etna (d)  Aravalli

U.P.P.C.S. (Mains) 2005
Ans. (d)

Residual Mountains are remnants of old mountains that have 
been worn down by agents of denudation. Residual mountains 
are formed from old fold, block or volcanic materials. 
Aravalli is an examples of residual mountains.

9.  Which of the following is the highest peak in South 
India?

 (a) Anaimudi (b) Doddabetta

 (c) Amarkantak (d) Mahendragiri
U.P. P.C.S. (Pre) 2005, 2012

U.P.U.D.A./L.D.A. (Pre) 2013
Ans. (a)

Anaimudi is the highest peak of Southern  India and a part of the 
Western Ghats mountains, having an elevation of 2,695 metres. 
It is located in the Ernakulam and Idukki district of Kerala.

10.  Which of the following is the highest peak of South 
India?

 (a) Anaimudi (b) Doddabetta
 (c) Guru Shikhar (d) Mahendragiri

M.P.P.C.S. (Pre) 2016
Ans. (a) 

See the explanation of the above question.

11.  The highest peak of the Indian Peninsula is 
 (a) Ootacamund (b) Anaimudi
 (c) Doddabetta (d) Mahabaleshwar

U.P.P.C.S. (Pre) 2016
Ans. (b) 

See the explanation of the above question.

12.  The Narmada and Tapti rivers fl ank –
 (a)   Vindhyan Mountains (b)   Satpura Ranges
 (c)   Rajmahal Hills (d)   Aravalli Hills

U.P.P.C.S. (Pre) 2007
Ans. (b)

Satpura Range, is part of the Deccan plateau, in central India. 
The range rise in eastern Gujarat running east through the border 
of Maharashtra and Madhya Pradesh to the east of Chhattisgarh. 
The Satpura range,  means "Seven Folds", which forms the 
watershed between the Narmada (North) and Tapti (South) 
rivers. Hence, the correct option is (b).

13. Which one of the following is the correct sequence 
of the given hills starting from the north and going 
towards the south?

 (a)  Nallamalai Hills – Nilgiri Hills – Javadi Hills – 
Anaimalai Hills 

 (b) Anaimalai Hills  – Javadi Hills –Nilgiri Hills – 
Nallamalai Hills

 (c)  Nallamalai Hills – Javadi Hills –Nilgiri Hills – 
Anaimalai Hills 

 (d)  Anaimalai Hills  – Nilgiri Hills – Javadi Hills – 
Nallamalai Hills

I.A.S. (Pre) 2005
Ans. (c)
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Nallamalai Hills are situated between the Krishna River 
and Pennar river, streched from north to south, parallel to 
the Coromandel Coast on the Bay of Bengal. Javadi Hills 
are located on the Eastern Ghats in the Tirupattur and 
Tiruvannamalai district of Tamil Nadu State. Renowned as 
‘Queen of Hills’, Nilgiri Hills are located at the junction of 
Western Ghats and Eastern Ghats. Doddabetta is the highest 
mountain in the Nilgiri Hills at 2,637 metres. There are around 
15 tribal groups in the Nilgiris. Among them the Badagas, 
Kotas, and Todas are the main tribal groups of the region. The 
Anaimalai or Annamalai Hills form the southern portion of the 
Western Ghats and span upto the border of Kerala and Tamil 
Nadu in southern India. Anaimudi is the highest peak in the 
Anaimalai Hills at 2695 metres. These four hills are located 
in Andhra Pradesh, Tamil Nadu and Kerala state in India from 
north to south. Hence, the correct option is (c).

14.  Consider the following relief features:
 1. Mahadeo Range
 2. Maikal Range
 3. Chotanagpur Plateau
 4. Khasi Hills
 The correct west to eastward sequence of the above 

relief features is 
 (a) 1, 2, 3, 4 (b) 4, 3, 2, 1 
 (c) 2, 3, 4, 1  (d) 1, 3, 2, 4

Jharkhand P.C.S. (Pre) 2016
Ans. (a)

West to east sequence of the above relief features is Mahadeo 
range, Maikal range, Chotanagpur plateau and Khasi hills. 
Mahadeo and Maikal ranges are the eastward extension of 
Satpura range. Chotanagpur plateau spread over much of 
Jharkhand as well as adjacent parts of Chhattisgarh,  Bihar, 
West Bengal and Odisha. Khasi hills are situated in Meghalaya.

15.  At which of the following hills the Eastern Ghats join 
the Western Ghats?

 (a) Palni Hills (b) Anaimudi Hills
 (c) Nilgiri Hills (d) Shevaroy Hills
 (e) None of the above/More than one of the above

60th to 62nd B.P.S.C. (Pre) 2016
Ans. (c)

Nilgiri Hills are situated at the meeting point of the Eastern 
Ghats of the Indian Peninsula. Nilgiri Hills are also known 
as the Blue Mountains. Its highest peak is Doddabetta (about 
2637 m.).

16.  Doddabetta Peak is situated in :
 (a) The Anaimalai Hills (b) The Nilgiri Hills
 (c) The Vindhya Range (d) The Satpura Range

R.A.S./R.T.S. (Pre) 2021
Ans. (b)

See the explanation of the above question.

17.  Which of the following hills are found where the 
Eastern Ghats and the Western Ghats meet?

 (a) Nilgiri Hills (b)  Cardamom Hills
 (c) Annamalai Hills (d)  Sahyadri Hills

I.A.S. (Pre) 2008
43rd B.P.S.C. (Pre) 1999

Ans. (a)

See the explanation of the above question.

18.  Which of the following hills are present where Eastern 
Ghats and Western Ghats meet?

 (a) Nilgiri Hills (b) Cardamom Hills
 (c) Annamalai Hills (d) Sahyadri Hills

Uttarakhand P.C.S. (Pre) 2021
Ans. (a) 

See the explanation of the above question.

19.  Which one of the following lies at the junction of 
Karnataka, Kerala and Tamil Nadu states?

 (a) Anaimalai Hills (b) Palni Hills
 (c) Nandi Hills (d) Nilgiri Hills

U.P.P.C.S. (Mains) 2015
Ans. (d) 

Nilgiri Hills are part of Western Ghats spread in western 
Tamil Nadu, Karnataka and Kerala in southern India.

20. Nilgiri Mountain Range lies in – 
 (a) Tamil Nadu (b) Maharashtra
 (c) Orissa  (d) Uttarakhand

Uttarakhand Lower (Sub.) (Pre) 2010
Ans. (a)

See the explanation of the above question.

21.  Indian Oceanists discovered a high mountain with a 
height of 1505 meter at the bottom of the Arabian sea 
about 455 km west, South West from Bombay, the 
mountain is called-

 (a) Kailash II (b) Raman Sagar mountain
 (c) Kanya Sagar Parvat (d) Bombay Parvat

40th B.P.S.C. (Pre) 1995
Ans. (b)
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Indian Oceanists have  discovered three marine mountain 
ranges in which one is located in Indian Ocean basin; Second 
is Sagar Kanya in Eastern Arabian Sea and third one is a 
high mountain with height of 1505 meter at the bottom of 
Arabian Sea about 455 km west, south west from Mumbai. 
This mountain is named after famous scientist C.V.Raman 
as Raman Sagar mountain.

22.  Which one of the following statements is not correct?
 (a)  The Western Ghats are relatively high in their Northern 

region.
 (b)  The Anaimudi is the highest peak in the Western Ghats.
 (c)  Tapti river lies to the south of Satpura.
 (d)  The Narmada and the Tapti river valleys are said to 

be old rift valleys.
I.A.S. (Pre) 2005

Ans. (a)

Anaimudi (2695 meters)  is the highest peak of southern  India 
as well as in the Western Ghats in India, located in southern 
region. Hence, statement (b) is correct.  Tapti river lies to the 
south of Satpura. Hence, Statement (c) is correct. The Rift 
valley is a linear-shaped lowland between several highlands 
or mountain ranges created by the action of a geologic rift or 
fault. Hence Narmada, Damodar & Tapti rivers are examples 
of  Indian rift valley. Hence, statement (d) is also correct. 
Statement (a) is wrong because southern part of Western 
Ghats is relatively high. 

23.  Which one of the following mountain ranges is spread 
over only one state in India?

 (a) Aravalli (b) Satpura
 (c) Ajanta (d) Sahyadri
 M.P.P.C.S. (Pre) 2017

I.A.S. (Pre) 1995
Ans. (c)

Ajanta Range : Ajanta Range is located in Maharashtra. It 
is a mountain range that is spread over only one state. Others 
are expanded to more than one state.
Satpura Range : The Satpura Range is a range of hills in 
Central India. The range rises in eastern Gujarat running east 
through the border of Maharashtra and Madhya Pradesh to 
the east of Chhattisgarh.
Aravalli Range: The Aravalli Range is a range of mountains 
in western India running approximately 800 km in northeast 
direction across the states of Gujarat, Rajasthan, and Haryana 
ending in Delhi.

Sahyadri Range: Sahyadri Mountain Range or the Western 
Ghats originates in Gujarat runs parallel to the Western coast 
and merge with the Nilgiri hill in the south. These hills cover 
1500 km and form the catchment area for complex river 
drainage systems.

24.  Western Ghats in Maharashtra and Karnataka is 
known as –

 (a) Nilgiri mountain (b) Sahyadri
 (c) Deccan plateau (d) None of these

44th B.P.S.C. (Pre) 2000
Ans. (b)

Western Ghats is  known as Sahyadri in Maharashtra, Goa & 
Karnataka. The Western Ghats has a high altitudinal variation 
and the average elevation is 1200 metres.

25.  Select from the code given below the correct locational 
sequence of the following hills proceeding from south 
to north.

 (1) Satmala hills (2) Kaimur hills
 (3) Pir Panjal Range (4) Naga hills
 Code :
 (a) 2, 3, 1, 4   (b) 1, 2, 4, 3
 (c) 1, 2, 3, 4   (d) 4, 3, 2, 1

U.P.P.C.S. (Mains) 2015
Ans. (b) 

The correct locational sequence from south to north of the 
given hills is - Satmala Hills (Maharashtra), Kaimur Hills 
(Madhya Pradesh to Bihar), Naga Hills (Indo-Myanmar 
Border) and Pir Panjal Range (Jammu and Kashmir to 
Himachal Pradesh).

26.  Cardamom Hills lie along the border of the states of –
 (a) Karnataka and Tamil Nadu
 (b) Karnataka and Kerala
 (c) Kerala and Tamil Nadu
 (d) Tamil Nadu and Andhra Pradesh

U.P. Lower Sub. (Spl) (Pre) 2010
U.P.P.C.S. (Spl) (Pre) 2008

Ans. (c)

The Cardamom Hills are southern hills of India and part of 
the southern Western Ghats located in south east Kerala and 
south west Tamil Nadu in South India. This name comes 
from the Cardamom spice grown abundantly on these hills. 
They conjoin the Anaimalai Hills to the north west, the 
Palni Hills to the north east and the Agasthyamalai Hills 
to the south.
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27.  The southernmost range of India is :
 (a) Nilgiri (b) Annamalai
 (c) Cardamom (d) Nallamalai

M.P. P.C.S. (Pre) 2018
Ans. (c)

The Cardamom hills or Yela Mala is the Southernmost 
mountain range of India. Located in the Western Ghats, 
Southeast Kerala and Southwest Tamil Nadu in South India. 
Its name comes from the Cardamom spice grown in most part 
of the hills, cool elevation also supports Pepper and Coff ee. 
The Western Ghats and Periyar sub Cluster including the 
Cardamom hills are UNESCO World Heritage site.

28.  Where are Shevaroy Hills located ?
 (a) Andhra Pradesh (b) Karnataka
 (c) Kerala (d) Tamil Nadu

I.A.S. (Pre) 2007
Ans. (d)

Shevaroy Hills are located in the Salem town of  Tamil Nadu. 
The height of Shevaroy Hills is about 4000 to 5000 feet 
above sea level. Its total area is about 50 sq. km. The famous 
'Yercaud' hill station is situated in these hills.

29.  Which one of the following does not lie in Maharashtra?
 (a) Balaghat Range (b) Harishchandra Range
 (c) Mandav Hills (d) Satmala Hills

U.P.P.C.S (Pre) 2011
Ans. (c)

Balaghat Range, Harishchandra Range & Satmala Hills are 
expanded in Maharashtra while Mandav Hills are located 
in Gujarat.  

30. Which one of the following pairs is not correctly 
matched?

 (a) Garhjat Hills : Orissa
 (b) Mandav Hills : Maharashtra
 (c) Nallamalai Hills : Andhra Pradesh
 (d) Shevaroy Hills : Tamil Nadu

U.P.P.C.S. (Mains) 2011
Ans. (b)

Mandav Hills are located in Gujarat not in Maharashtra , 
hence, option (b) is not correctly matched . The Garhjat 
Hills is a mountain range that stretch into Odisha from the 
Utkal Plains in the Chotanagpur region of Jharkhand and the 
Chhattisgarh Plains where Gond tribes reside. Nallamalai 
Hills are located in Andhra Pradesh and Shevaroy Hills are 
located in the state of Tamil Nadu.

31. Consider the following pairs :
  Hills  Region
 1. Cardamom Hills : Coromandel Coast
 2. Kaimur Hills : Konkan Coast
 3. Mahadeo Hills : Central India
 4. Mikir Hills : North-East India
 Which of the above pairs are correctly matched?
 (a)  1 and 2 (b)  2 and 3
 (c)  3 and 4 (d)  2 and 4

I.A.S. (Pre) 2014
Ans. (c)

Cardamom Hills are part of Western Ghats in the state of 
Kerala and Tamil Nadu whereas Coromandel Coast is the 
south eastern region between Eastern Ghat and Bay of 
Bengal. Thus pair (1) is not matched correctly. Kaimur Hills 
is extending from in Madhya Pradesh to Bihar while Konkan 
Coast lies along the western coastline ( Maharashtra) of India. 
Thus pair (2) is also not correctly matched. Mahadeo Hills 
are situated in Central India in Madhya Pradesh and Mikir 
Hills are situated in North East India region. Thus pair (3) 
and (4) are correctly matched.

32.  Mahadeo mountains are part of –
 (a) Satpura (b) Vindhya
 (c) Kaimur (d) None of these

Chhattisgarh P.C.S. (Pre) 2014
Ans. (a) 

Mahadeo Hills are part of Satpura Hills. Satpura Mountain 
Range is southward of Vindhya Hills and parallel to it. 
It extends from Raj pipla Hills in the west to the west of 
Chotanagpur Plateau in the form of Mahadeo and Maikal 
Hills.

33. The Dhupgarh peak is situated in –
 (a) Satpura Range (b) Maikal Range
 (c) Vindhya Range (d) None of these

M.P.P.C.S. (Pre) 2015
Ans. (a)
Dhupagarh is the highest peak of the Satpura Range located 
in Pachmarhi (MP).

34.  The hills of Ramgiri are part of this mountain range
 (a) Vindhyachal (b) Satpura
 (c) Maikal (d) Sahyadri
 (e) None of the above

Chhattisgarh P.C.S. (Pre) 2015
Ans. (*)
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The hills of Ramgiri are located in Peddapalli district of 
Telangana. It is part of Eastern Ghat or Mahendra Parvat. 
Apart from this Ramgiri Hills are also located in Maikal 
Range of Chhattisgarh. Since Maikal Range is a part of 
Satpura Range so option (b), (c) and (e) can be possible 
answer. Chhattisgarh Public Service Commission held option 
(b) as correct in the revised answer key.

35.  What is the height of Parasnath Hill?
 (a) 1600 Meters (b) 1565 Meters
 (c) 1365 Meters (d) 1260 Meters

Jharkhand P.C.S. (Pre) 2016
Ans. (c)

Parasnath hill is located in Giridih district of Jharkhand. 
Its height is approximately 1365 m. Shikharji Jain temple 
is situated on this hill. Parasnath hills is one of the most 
important pilgrimage centre for Jains named after Parasnath, 
the 23rd Tirthankara.

36.  Match List-I with List-II and select the correct answer 
using the codes given below the lists :

 List-I (Hills)  List - II (States)
 A. Garo   1. Meghalaya
 B. Miri   2. Tamil Nadu
 C. Kollai Mallai  3. Arunachal Pradesh
 D. Dalma   4. Jharkhand
 Codes -
  A B C D
 (a) 1 3 2 4
 (b) 1 2 3 4
 (c) 1 3 4 2
 (d)  2 1 3 4

U.P.R.O./A.RO. (Pre) 2017
Ans. (a)

The correct match is :
(Hills)       (State)

Garo Meghalaya

Miri Arunachal Pradesh

Kollai Mallai Tamil Nadu

Dalma Jharkhand

37.  Consider the following statements about Western 
Ghats :

 1. It is a block mountain
 2. Its eastern slope is a gently lowering down plateau.

 3. Its northern section is covered by lava (Basalt)
 Which of the above statements are correct?
 (a) 1 and 2 (b) 2 and 3
 (c) 1 and 3 (d)  1, 2 and 3

U.P. R.O. / A.R.O. (Main), 2017
Ans. (d)

The Western Ghats or Sahyadri that stretches over approx 
1500-1600 km parallel to the western coast of India is a 
structurally block mountain range, parallel to the western 
sea coast from the mouth of Tapi in the north to Cape Co-
morin in the south. These are block mountains that have 
been formed due to upwelling of a block of land in the 
Arabian Sea. Its western slope is sharp and steep, while the 
eastern slope is a gently lowering down the plateau.

38.  'Kodaikanal' is situated in which hill?
 (a) Anaimalai (b) Bundi
 (c) Palni (d) Amarkantak
 (e) None of these

Chhattisgarh P.C.S. (Pre) 2017
Ans. (c)

Kodaikanal is a city in the Palni Hills of the Dindigul district 
in the state of Tamil Nadu.

39.  Which of the given hills is an extension of Vindhyan 
ranges in Rajasthan?

 (a) Mukandara hills (b) Dora mountain
 (c) Alwar hills (d)  Girwa hills

R.A.S./R.T.S. (Pre), 2018
Ans. (a)

The Mukandra hills are an extension of the Vindhyan moun-
tain ranges in Rajasthan. Mukandra hill is situated between 
Kota and Jhalawar.

40.  Which of the following mountain peak is not situated 
in Eastern Ghats?

 (a) Gali Konda (b) Salher
 (c) Sinkram Gutta (d) Madugula Konda

R.A.S./R.T.S. (Pre) 2018
Ans. (b)

Salher is a place located in Satna Tehsil in Nasik district of 
Maharashtra. It is the site of the highest fort in the Sahyadri 
mountains and the second highest peak at 1,567 mts.

41.  Match List-I and List-II and select the correct answer 
using the codes given below the list :

  List-I  List-II
  States Highest Peak
 A. Kerala 1. Doddabetta
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 B. Nagaland 2. Nanda Devi
 C. Uttarakhand 3. Anaimudi
 D. Tamil Nadu 4. Saramati
 Code :
  A B C D
 (a) 1 3 4 2
 (b) 2 3 4 1
 (c) 3 4 2 1
 (d) 1 2 3 4

U.P. P.C.S. (Pre) 2018
Ans. (c)

State  Highest Peak
Kerala – Anaimudi
Nagaland – Saramati
Uttarakhand – Nanda Devi
Tamil Nadu – Doddabetta

42.  Which one of the following is the correct sequence of 
the hills of Central India located from West to East ?

 (a) Maikal, Satpura, Mahadeo and Chotanagpur
 (b) Satpura, Mahadeo, Maikal and Chotanagpur
 (c) Maikal, Mahadeo, Satpura and Chotanagpur
 (d) Satpura, Mahadeo, Chotanagpur and Maikal

U.P.P.C.S. (Pre) 2019
Ans. (b)

The correct sequence of the hills of Central India located from 
west to east is Satpura, Mahadeo, Maikal and Chotanagpur. 
So, the correct answer is option (b).

43.  Which of the following sequences presents the correct 
location of the ranges in the Satpura region from West 
to East? 

 (a) Barwani Hills - Mahadeo Range - Maikal Range
 (b) Mahadeo Range - Barwani Hills - Maikal Range 
 (c) Mahadeo Range-Maikal Range-Barwani Hills
 (d) Maikal Range -Mahadeo Range - Barwani Hills

M.P.P.C.S. (Pre) 2019
Ans. (a)

The correct sequence of the ranges in the Satpura region 
from West to East is Barwani Hills-Mahadeo Range-Mai-
kal Range.

44.  The Hills situated closer to Kanyakumari are :   
 (a)  Anaimalai Hills (b) Nilgiri Hills
 (c) Cardamom Hills (d) Shevaroy Hills
 (e) None of the above/more than one of the above

65th B.P.S.C. (Pre) 2019
Ans. (c)

Cardamom Hills are closest to Kanyakumari which is approx-
imately 365 km from Cardamom Hills. Cardamom Hills are 
part  of the Western Ghats located in southeast Kerala and 
southwest Tamil Nadu.

45.  From north to south, Western Ghats are locally known 
as-

 (a) Sahyadri-Nilgiri-Anaimalai-Cardamom Hills
 (b) Sahyadri-Anaimalai-Nilgiri-Cardamom Hills
 (c) Nilgiri-Sahyadri-Cardamom Hills-Anaimalai
 (d)  Sahyadri-Nilgiri-Cardamom Hills-Anaimalai

Jharkhand P.C.S. (Pre) 2023
Ans. (a)

See the explanation of the above.

46.  Which one of the following hills does not have tea 
plantations?

 (a) Kanan Devan (b) Nilgiri
 (c) Darjeeling (d)  Girnar
 (e) None of the above/More than one of the above

65th B.P.S.C. (Pre) 2019
Ans. (d)

Girnar hills is not a tea garden among the given options. 
All other hills have tea gardens. Kanan Devan hill is locat-
ed in the Idukki district of Kerala state, India. This area is 
located in near Munnar hill station. Tea plantations were 
established in the Munnar region in the 1870s.
- The Nilgiris, an important mountain region of the 

Western Ghats located to the South, Nilgiri tea is one 
of the most exclusive teas in India.

- India's Darjeeling is mainly famous for tea production, 
which is located in the state of West Bengal in the South 
of the state of Sikkim.

- Mount Girnar is located in the State of Gujarat, where 
tea-making has not been developed.

47.  Match List - I with List- II and select the correct answer 
from the code given below the lists.

 List - I   List - II
 (Hill/Mountain) (Location in State of India)
 A. Bateshwar Hill  1. Haryana
 B. Bilari Range  2. Manipur
 C. Chin Range  3. Bihar
 D. Dhoshi Hill  4. Karnataka
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 Code :
  A B C D
 (a) 3 2 4 1
 (b) 4 3 1 2
 (c) 2 3 1 4
 (d)  3 4 2 1

U.P.P.C.S. (Pre) 2022
Ans. (d)

Hill/Mountain     State
Bateshwar Hill      Bihar (Bhagalpur)
Chin range      Manipur (Myanmar to Manipur)
Dhoshi Hill        Haryana (Mahendragarh)
Note : The question has been asked about the Bilari 
range, where as the Bellari/Bellary Gudda range exists in 
Karnataka. Although nearest Bilari can be considered as 
Bellary. Hence option (d) is the correct.

48.  Consider the following statements :
 1. Amarkantak Hills are at the confl uence of Vindhya 

 and Sahyadri Ranges.
 2. Biligirirangan Hills constitute the easternmost part 

 of Satpura Range.
 3. Seshachalam Hills constitute the southernmost part 

 of Western Ghats.
 How many of the statements given above are correct?
 (a) Only one (b) Only two
 (c) All three (d)  None

I.A.S. (Pre) 2023
Ans. (d)

The Vindhya and Satpura Ranges converge at the 
Amarkantak Hill, a distinctive natural heritage site. So 
statement 1 is incorrect. Biligirirangan Hills are located in 
southeast Karnataka. Therefore, statement 2 is incorrect.
The Seshachalam Hills are hilly region that are the part of 
the Eastern Ghat in Southern Andhra Pradesh. Therefore 
statement 3 is also incorrect.

iv. Mountain Peaks
*Mount Everest is the highest peak in the world. It is located 
in Nepal and China (Tibet). Its height is 8848m. Nepal and 
China Jointly announced the new hight of Mount Everest as 
8848.86 meters. It is also known as ‘Sagarmatha’ in Nepal. 
Bachendri Pal was the fi rst Indian Woman to reach the 
summit of Mount Everest in 1984. *Mount K2 is also known 
as Godwin Austen, the highest peak of India and Second 
highest peak in the world. It is located in Karakoram range in 

Ladakh. Its height is 8611m. *Kanchenjunga (8598m) is the 
third highest peak in the world and the second highest peak 
of India. It is located in the Indian State of Sikkim and Nepal. 
Nanda Devi (7816m) is the fourth highest peak of India. It 
is located in Uttarakhand. This region has been declared as 
Nanda Devi National Park. In 1988, UNESCO recognised 
it as World Heritage Site of natural importance.
*Guru Shikhar (1722m) is the highest peak of Aravalli 
range. It is located in the Sirohi district of Rajasthan. Kamet 
and Trishul mountain peaks are located in the Indian state 
of Uttarakhand. 

 

*Gosainthan is located in Tibet near Nepal borders. 
*Utakmand is situated in Nilgiri Range. *Kodaikanal of 
South India is located in Palni Hills of Dindigul district of 
Tamil Nadu.

1.  Consider the following pairs :
  Peak   Mountains
 1. Namcha Barwa - Garhwal Himalaya
 2. Nanda Devi - Kumaon Himalaya
 3. Nokrek  - Sikkim Himalaya
 Which of the pairs given above is/are correctly 

matched?   
 (a) 1 and 2 (b) 2 only
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 (c) 1 and 3 (d)  3 only
I.A.S. (Pre) 2022

Ans. (b)

Namcha Barwa mountain peak is located in Tibet (China). 
So it is not located in Garhwal Himalaya. There are two 
peak named as Nanda Devi mountain peak - Nanda Devi 
main (7816 m) and Nanda Devi East (7434 m). Of these, 
Nanda Devi is situated in West Chamoli district, which is 
the peak of the Garhwal Himalaya Mountains, while Nanda 
Devi located on the border of East Chamoli, Pithoragarh 
and Bageshwar districts, which is the peak of the Kumaon 
Himalaya Mountains. Since only Nanda Devi Shikhar 
has been asked in the question. Hence pair 2 is correctly 
matched. According to Sidney Burrard's regional division 
of the Himalayas, Nanda Devi is also a mountain peak of 
the Kumaon Himalayas. Nokrek peak is the highest peak 
of the Garo hill (Meghalaya) range. It is not the peak of the 
Sikkim Himalayas.

2. Where is 'Mount Everest' located?
 (a) Pakistan (b) India
 (c) Tibet (d) Nepal

M.P.P.C.S. (Pre) 1995
Ans. (*)
Mount Everest is the highest peak in the world located in 
Nepal and China (Tibet). Its height is 8848m. Nepal and 
China Jointly announced the new hight of Mount Everest as 
8848.86 meters. It is also known as “Sagarmatha” in Nepal. 

3.  Which of the following is the highest mountain on 
Earth?

 (a) Mount Everest (b) Kanchenjunga
 (c) Lhotse (d) Makalu

Chhattisgarh P.C.S. (Pre) 2011
Ans. (a)

See the explanation of the above question.

4.  The fi rst Indian woman to have climbed Mt. Everest 
is :

 (a) Bachendri Pal (b) Dicky Dolma
 (c) Santosh yadav (d) P.T. Usha

U.P.P.C.S. (Pre) 1996
Ans. (a)

Bachendri Pal is the fi rst Indian woman to reach the summit 
of Mount Everest in 1984.

5.  The fi rst woman to climb Mount Everest was : 
 (a) Junko Tabei (b) Karoline Mikkelson

 (c) Valentina Tereshkova (d) None of the above
M.P.P.C.S. (Pre) 2015

Ans. (a)

Junko Tabei (22 September, 1939-20 October, 2016) was 
a Japanese mountaineer. She was the fi rst woman to climb 
Mount Everest on 16 May, 1975. She was also the fi rst woman 
to climb the highest peaks of all the seven continents.

6.  The woman mountaineer who climbed Mt. Everest 
twice is :

 (a) Bachendri Pal (b) Chandra Prabha Aitwal
 (c) Jaya Kshetri (d) Santosh Yadav

Uttarakhand P.C.S. (Pre) 2002
Ans. (d)

Santosh Yadav is the fi rst woman in the world to climb Mount 
Everest twice. She fi rst climbed the peak in May 1992 and 
then again in May 1993. She is also the second Indian woman 
to climb Mt. Everest. The fi rst Indian woman was Bachendri 
Pal who succeeded in climbing the Everest in 1984.

7.  Who was the second Indian women to climb Mount 
Everest–

 (a) Bachendri Pal (b) Madhu Yadav
 (c) Santosh Yadav (d) Suneeta Godra

M.P.P.C.S. (Pre) 1992
Ans. (c)

See the explanation of the above question.

8.  Highest mountain peak in India is–
 (a) K2 Godwin Austin (b) Kanchenjunga
 (c) Nanda Devi (d) Mount Everest

42nd B.P.S.C. (Pre) 1997
Ans. (a)

Mount K2 also known as Godwin Austin is the highest peak 
of India and the second highest peak of the world. It is located 
in Ladakh in Karakoram range. Its height is 8611m.

9.  Which of the following is the highest mountain peak in 
India?

 (a) Everest (b) Siachen
 (c) K2 (d) Kargil

U.P.P.C.S. (Mains) 2009
Ans. (c)

See the explanation of the above question.

10.  Highest mountain peak in India –
 (a) Kanchenjunga (b) Makalu
 (c) Karakoram (d) Mt. Everest

R.A.S./R.T.S. (Pre) 1995
Ans. (a)



CA–44 General Studies Indian Geography

The peaks of the Himalayan Mountain range and their 
countries are as follows –
Mount Everest (8848m) - Nepal and China (Tibet)
Godwin Austin (K2) [8611m] - India
Kanchenjunga (8598m) - India/Nepal
Makalu (8463m) - Nepal
Highest Peak of India, Godwin Austin is not in the options so 
Kanchenjunga is the correct answer. 
Note : Nepal and China Jointly announced the new hight of 
Mount Everest as 8848.86 meters.

11.  Himalayan peak Kanchenjunga is situated at
 (a) Kashmir 
 (b) Nepal
 (c) Sikkim 
 (d) Himachal Pradesh

M.P.P.C.S. (Pre) 2014
Ans. (b) & (c) 

See the explanation of the above question.

12.  Choose the correct order from the following –
 (a) Godwin Austin, Kanchenjunga, Mount Everest
 (b) Nanda Devi, Godwin Austin, Kanchenjunga.
 (c) Mount Everest, Godwin Austin, Kanchenjunga.
 (d) Godwin Austin, Mount Everest, Kanchenjunga.

M.P.P.C.S. (Pre) 1991
Ans. (c)

See the explanation of the above question.

13.  Nanda Devi peak forms a part of:
 (a) Assam Himalayas (b) Garhwal Himalayas
 (c) Nepal Himalayas (d) Punjab Himalayas

I.A.S. (Pre) 2003
Ans. (b)

Nanda Devi (7816 m) is the fourth highest peak in India after 
K2 (8611 m) and Kanchenjunga (8598m) and Nanga Parbat. 
It is located in Garhwal Uttarakhand.

14.  Nanda Devi is situated in –
 (a) Himachal Pradesh (b) Uttarakhand
 (c) Nepal (d) Sikkim

Jharkhand P.C.S. (Pre) 2013
Ans. (b)

Nanda Devi Peak is part of the Great Himalayas. It is located 
in Uttarakhand, India. It is the fourth highest peak in India. 
The height of Nanda Devi is 7816 m. This region has been 
declared as Nanda Devi National Park. UNESCO recognised 
it as a World Heritage Site in 1988.

15.  Nanda Devi Peak is located in :

 (a) Himachal Pradesh (b) Uttarakhand
 (c) Uttar Pradesh (d) Sikkim

M.P.P.C.S. (Pre) 2013
Ans. (b)

See the explanation of the above question.

16.  In which state is the Guru Shikhar Peak located ?
 (a) Rajasthan (b) Gujarat.
 (c) Madhya Pradesh (d) Maharashtra

I.A.S. (Pre) 2007
Ans. (a)

The highest peak of Aravalli Range is Guru Shikhar (1722 
m). It is located in Sirohi district of Rajasthan.

17.  Which one of the following is the highest Aravalli peak?
 (a) Sajjangarh (b) Lilagarh
 (c) Kumbhalgarh (d) Taragarh

R.A.S./R.T.S. (Pre) 2012
Ans. (c)

Guru Shikhar peak, the highest peak in Aravalli Mountain, 
is not given in the options, therefore Kumbhalgarh (1224 m) 
is the highest peak among the given options.

18.  Which one of the following gives correct sequence of 
Himalayan peaks in the direction east to west ?

 (a) Dhaulagiri, Kanchenjunga, Makalu, Mount Everest
 (b) Namcha Barwa, Kanchenjunga, Nanda Devi, Mount 

Everest
 (c) Makalu, Dhaulagiri, Kumaun, Namcha Barwa
 (d) Namcha Barwa, Kanchenjunga, Mount Everest, Nanda 

Devi
U.P.P.C.S. (Spl) (Mains) 2008

Ans. (d)

The correct sequence of Himalayan Peaks in the direction 
east to west is – Namcha Barwa-Tibet, 
Kanchenjunga (Sikkim/Nepal), Mount Everest [(Nepal and 
China (Tibet)], Nanda Devi (Uttarakhand).

19.  Which one of the following mountain peaks is not 
located in India ?

 (a) Gosainthan (b) Kamet
 (c) Nanda Devi (d) Trishul

U.P.P.C.S. (Mains) 2005
Ans. (a)
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Nanda devi, Kamet and Trishul are the peaks located in 
Uttarakhand, India. Gosainthan is located in Tibet near 
Nepal border.

20.  Which one of the following is not correctly matched –
 (a) Mount Abu - Aravalli Hills
 (b) Kodaikanal  - Annamalai Hills
 (c) Ootacamund - Nilgiri Hills
 (d) Shimla - Pir Panjal Range

U.P.U.D.A./L.D.A. (Pre) 2013
Ans. (*)

Kodaikanal lies in Palni Hills of Dindigul district of Tamil 
Nadu not in Anaimalai Hills. Palni Hills is connected to 
Anaimalai Hills in its south and extends north east into the 
plains of Tamil Nadu. Similarly, Shimla is located in Shivalik 
Range not in Pir Panjal Range. Thus, option (b) and (d) both 
are not correctly matched.

21.  Which one of the following peaks are not located in 
India?

 (a) Gurla Mandhata (b) Namcha Barwa
 (c) Kamet (d) Nanga Parbat

U.P.P.C.S. (Pre) 2019
Ans. (a & b)

Kamet peak and Nanga Parbat are located in India. Gurla 
Mandhata and Namcha Barwa (Tibet) peak are located in 
China.

22.  In which Pat 'Gaurlata' peak is situated?
 (a) Samri Pat (b) Main Pat
 (c) Jashpur Pat (d) Jarang Pat

Chhattisgarh P.C.S. (Pre) 2019
Ans. (a)

Gaurlata Peak situated in Samri Pat, in Balrampur 
Ramanujganj district of Chhattisgarh is the highest peak in 
Chhattisgarh.

23.  Match List - I with List - II and select the correct an-
swer using the codes given below the lists.

 List - I  -  List - II
 (State of India)  (Highest Peak)
 A. Tamil Nadu  - 1. Dhupgarh Peak
 B. Rajasthan - 2. Saramati Peak
 C. Nagaland - 3. Guru Shikhar peak
 D. Madhya Pradesh  - 4. Doddabetta peak

 Codes :

  A B C D

 (a) 3 2 1 4 

 (b) 1 4 3 2

 (c) 4 2 3 1

 (d) 4 3 2 1
U.P.P.C.S. (Pre) 2021

Ans. (d)
State of India  Highest Peak
 Tamil Nadu - Doddabetta Peak
 Rajasthan - Gurushikhar Peak
 Nagaland - Saramati Peak
 Madhya Pradesh - Dhupgarh Peak

24.  With reference to the 'Trishul Peak in Himalayas', 
which of the following statements is/are correct?

 (1) It is situated in Bageshwar district of Uttarakhand.
 (2) The peak is more than 7500 m high.
 Select the correct answer from the code given below.
 Code :
 (a) Only 1  (b) Only 2
 (c) Both 1 and 2 (d)  Neither 2 nor 2

U.P. R.O./A.R.O. (Mains) 2021
Ans. (a)
Trishul is a group of three Himalayan mountain peaks 
namely Trishul I, Trishul II and Trishul III. The heights of 
Trisul I, Trishul II and Trishul III are 7120m, 6690m and 
6008m respectively. It is located in Uttarakhand. It looks 
like the Trishul of Lord Shiva.

v. Valleys
*A valley is a low area of land between hills and mountains, 
typically with a river or stream fl owing through it. India is 
blessed with a lot of valleys, famous for its scenic views 
and historical importance. Valleys in India are found both in 
Northern and Southern parts, however valleys are dominantly 
found in the Northern mountainous part of the country.
*The Himalayas are formed of parallel fold ranges. The 
Kashmir Valley, Doon Valley, Kangra and Kullu Valley 
(Himachal Pradesh), the Bhagirathi Valley (near Gangotri) 
and the Mandakini Valley (near Kedarnath) are various 
valleys which lie in the lap of Himalayas. *The scenic beauty 
of these places makes the valley a tourism hotspot. *The 
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Kullu Valley of Himachal Pradesh lies between Dhauladhar 
and Pir Panjal Range. The Nelang Valley is situated in 
the state of Uttarakhand (In the district of Uttarkashi near 
Gangotri National Park). It is situated near Indo-china border. 
It was closed for civilians after the Indo-china war of 1962. 
It was re-opened in the year 2015 for tourism.
*The Markha Valley is a famous valley of Ladakh (UTs). 
The Dzukou Valley is situated in the state of Nagaland.
*The Sangla Valley of Himachal Pradesh is surrounded on 
all sides by mountain Peaks and Baspa River. The Yumthang 
Valley which lies at a distance of approx 149 km from the 
capital of Sikkim i.e. Gangtok is known for its Rhododendron 
vegetation and other such green fl oras. The valley is also 
known for its ‘Hotsprings’.
The silent valley of Palakkad district or Palghat in the state 
of Kerala is situated in the Nilgiri Forests of Western Ghats.

1.  The Kullu Valley is situated between the mountain 
ranges of :

 (a) Dhauladhar and Pir Panjal
 (b) Ranjoti and Nagtibba
 (c) Ladakh and Pir Panjal
 (d) Middle Himalayas and Shiwalik 

U.P. Lower Sub. (Spl.) (Pre) 2002
U.P.P.C.S. (Pre) 1999

Ans. (a)

Kullu Valley is situated in Himachal Pradesh. It is located 
between Dhauladhar and Pir Panjal Ranges.

2.  In which state is the Nelang Valley located?
 (a) Himachal Pradesh (b) Sikkim
 (c) Jammu and Kashmir (d) Uttarakhand

U.P.P.C.S. (Pre) 2016
Ans. (d) 

Nelang Valley falls under the Gangotri National Park in 
Uttarkashi district of Uttarakhand. It is near Indo-China 
border, which was closed for civilians after the 1962 war. It 
was fi nally re-opened to tourist in 2015.

3.  Match List-I (Valley) with List-II (State) and select the 
correct answer using the code given below the lists :

  List I   List II  
  (Valley)   (State)
 A. Markha Valley  1. Sikkim
 B. Dzukou Valley  2. Himachal Pradesh

 C. Sangla Valley  3. Jammu and Kashmir
 D. Yumthang Valley  4. Nagaland
 Code :
  A B C D
 (a)  2 4 3 1
 (b)  3 1 2 4
 (c)  2 1 3 4
 (d) 3 4 2 1

I.A.S. (Pre) 2006
Ans. (d)

Markha Valley is situated in Ladakh UTs, when the question 
was asked it was part of Jammu and Kashmir region. Dzukou 
Valley is located in Nagaland at a height of 2438 m above 
sea level behind Japfu Range. This valley is well known for 
its natural beauty and seasonal fl owers. It is approximately 
30 km away from Kohima (Nagaland's Capital).
Sangla Valley is in the Kinnaur district of Himachal Pradesh. 
It is surrounded by mountain peaks and Baspa river.
Yumthang Valley is in Sikkim at a distance of approx 149 km 
from Gangtok (Capital of Sikkim). The valley is also known 
for its Hot Springs.

4.  Consider the following statements:
 1.  Silent Valley National Park is in the Nallamalai 

range.
 2.  Pathrakkadavu Hydroelectric project is proposed 

to be built near the Silent Valley National Park.
 3.  The Kunthi river originates in Silent Valley's 

rainforests.
 Which of the statements given above is/are correct?
 (a) 1 and 3 (b) 2 only
 (c) 2 and 3 (d) 1, 2 and 3

I.A.S. (Pre) 2005
Ans. (c)

Silent Valley National Park is located in Palakkad/Palghat 
district of Kerala. It is situated on Nilgiri Hills of Western 
Ghat not Nallamalai Range. Therefore statement 1 is wrong. 
Pathrakkadavu hydroelectric project was proposed by Kerala 
State Electricity Board at a distance of 1 km from Silent 
Valley National Park. Thus, statement 2 is correct. Kunthi 
River is the tributary of Thuthapuzha River and originates 
in the Silent Valley. Thus, statement 3 is also correct. Thus, 
the correct answer will be option (c).

5.  In which State 'Silent Valley' is located in India?
 (a) Tamil Nadu (b) Kerala
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 (c) Karnataka (d) Assam
Chhattisgarh P.C.S. (Pre) 2019

Ans. (b)

See the explanation of above question. 

6.  What is/are correct among the following ?
 (i) Galwan river was named after Ghulam Rassul  

 Galwan
 (ii) Ghulam Rassul Galwan was a Ladakhi explorer
 (iii) He wrote a book in English named 'Servants of 

 Sahibs'
 (a) (i), (ii) and (iii) (b) (i) and (ii)
 (c) (i) and (iii) (d)  Only (i)

 Chhattisgarh P.C.S. (Pre) 2021
Ans. (a)

The Galwan River is the main source of the formation of the 
Galwan Valley. The valley is named after Ghulam Rassul 
Galwan. He was a Ladakhi explorer. He wrote a book 
named 'Servant of Sahibs' in English.

7.  Which of the following is also called 'Molassis Basin?'
 (a) Manipur (b) Tripura
 (c) Mizoram (d)  Nagaland

M.P.P.C.S. (Pre) 2023
Ans. (c)

Mizoram is also called 'Molassis Basin', because Mizoram 
is composed of unconsolidated sediments, Signifi cantly 
Mizoram is a hilly state in the North-East and is characterised 
by the presence of homogenous tribal population. Notably, 
the common language of Mizoram is Lushai.

vi. Passes
*A Pass is a gap, or break, in high, rugged terrain such as a 
mountain ridge. A Pass is formed when a glacier or a stream 
erodes, or wears away, the land between the areas of higher 
terrain. Passes often provide the easiest routes for people to 
travel across steep mountain ranges.
*A Pass is a connectivity route through the basin of a mountain 
or mountain ranges. In India a lot of passes are found in the 
Himalayan region and the Western Ghats. These passes often 
become an essential medium for connectivity via roadways 
and railways. *The Karakoram Pass is situated in the Ladakh 
UTs. *The Burzil Pass provides a route between Srinagar and 
Gilgit. The Srinagar-Leh route passes through Zoji La Pass, 
which is situated in the Zaskar Range. The route from kulgaon 
to Kothi passes through Pir Panjal Range. *The route from 
Jammu to Srinagar passes through Banihal Pass. The Banihal 
Pass is also famous for the Jawahar Tunnel.

 

*The Shipki La pass is situated in the state of Himachal 
Pradesh. It provides route that connects Himachal Pradesh 
to Tibet. *The Baralacha La pass provides route between 
Mandi and Leh. Thang La pass is situated in the Ladakh 
region. It is the second-highest motorable mountain pass 
in India. *Mana Pass which is also known as Chirbitya 
La and Dungri La situated in the Himalayan region of the 
country between India and Tibet. Mana Pass situated in the 
state of Uttarakhand, extends from the Nanda Devi Biosphere 
Reserve of Zaskar Mountain Range to Tibet. Lake Deotal 
which is the source of river Saraswati a tributary of river 
Alaknanda is situated in the Mana Pass. *Lipu Lekh Pass 
situated in the state of Uttarakhand lies on the Indo-China 
Border. The route for the Lake Mansarovar and Kailash Valley 
passes through Lipu Lekh and Nathu La passes.
*Nathu La Pass is situated in Sikkim. Nathu La Pass  extends 
upto Chumbi valley of Tibet Plateau region of China. Nathu 
La Pass is also the third Border Trade Point between India and 
China the other two being Lipulekh Pass of Uttarakhand and 
Shipkila Pass of Himachal Pradesh. Post 1962 Indo-China 
war both the Lipulekh Pass of Uttarakhand and Shipki La 
Pass of Himachal Pradesh were closed for any trade activities 
between the two countries, however on 6th July, 2006 they 
were re-opened. *The Jelep La pass, situated in Sikkim, 
connects the Eastern Sikkim district to Lhasa (Tibet).
*Bomdila pass connects Arunachal Pradesh (Western 
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Kameng District) to Lhasa Tibet. *Yang Yap pass is located 
in the state of Arunachal Pradesh. The River Brahmaputra 
enters India near this pass. *Difl u and Pangsau passes 
which are situated in the state of Arunachal Pradesh lie on 
Indo-Mayanmar Border. *Tuju pass (Manipur) located on 
South-East region provides a way from Imphal to Tamu and 
Myanmar.
*The Western Ghats extend from the mouth of the river Tapti 
in the North to the cape of Kanyakumari in the south covering 
1500 kms in landscape. *Thalghat situated in the state of 
Maharashtra, provide road and rail connectivity between 
Mumbai-Nagpur & Kolkata. *Bhor Ghat Pass also located 
in Maharashtra provide road and rail connectivity between 
Mumbai-Pune-Belgaum-Chennai. *Palghat Gap is low 
mountain pass in the Western Ghats in Kerala, it connects 
Kochi and Chennai the two main cities of South India. The 
pass is located between the Nilgiri Hills to the north and 
Anaimalai (Annamalai) Hills to the South.
Some other important passes of India are -
Chang La - Ladakh
Bum La - Arunachal Pradesh
Rohtang Pass - Himachal Pradesh
Niti Pass - Uttarakhand
Muling La Pass is a seasonal pass located to the North of 
Gangotri. It connects Uttarakhand to Tibet. In winters it gets 
covered with snow, hence becomes inactive for travelling 
purposes.

1.  Which one of the following is not correctly matched?
 (a) Chang La - Jammu and Kashmir
 (b) Rohtang - Himachal Pradesh
 (c) Bomdi La - Arunachal Pradesh
 (d) Se La - Uttarakhand

U.P.P.C.S. (Mains) 2015
Ans. (d) 

The Passes and their location is as follows–
Chang La – Jammu and Kashmir
Rohtang  – Himachal Pradesh
Bomdi La – Arunachal Pradesh
Se La  – Arunachal Pradesh
Thus option (d) is not correctly matched. In present scenario, 
Chang La pass is in Ladakh region i.e. Union Territory. 
(bifurcated from Jammu and Kashmir).

2.  Palghat is situated between :

 (a) The Nilgiris and the Cardamom Hills

 (b) The Nilgiris and the Annamalai Hills

 (c) The Annamalai Hills and the Cardamom Hills

 (d) The Cardamom Hills and Palni Hills

R.A.S./R.T.S. (Pre) 2013

Ans. (b)

Palghat Pass is located between the Nilgiri Hills to the north 
and Annamalai (Anaimalai) Hills to the south. It is located 
in Kerala. Thalghat, Bhorghat and Palghat are main passes 
of Western Ghat.

3.  Which of the following is not correctly matched :

 (a) Bomdi La Pass - Arunachal Pradesh

 (b) Nathu La Pass -  Sikkim

 (c) Bhorghat Pass - Himachal Pradesh

 (d) Palghat  - Kerala

U.P.P.C.S. (Pre) 1998

Ans. (c)

Bomdi La Pass is located in Arunachal Pradesh in West 
Kameng district. Nathu La Pass is located in Sikkim. 
Bhorghat is located in Maharashtra which connects Mumbai 
and Pune. Palghat Pass is located in Kerala which connects 
Kollam and Madurai.

4. Which of the following is NOT a pass in the Western 

Ghats Mountain ranges?

 (a) Thalghat  (b) Bhorghat

 (c) Khyber Pass  (d) Palghat

U.P. R.O./A.R.O. (Mains) 2016

Ans. (c)

The Khyber Pass is located in Khyber Pakhtunkhwa province 
(formerly NWFP) of Pakistan. It falls on Pakistan's and 
Afghanistan border.
Thalghat is near the town of Kasara in Maharashtra. It is 
along the busy Mumbai-Nashik route.
Bhor ghat links Mumbai with Pune.
Palghat connects Kerala and Tamil Nadu (links Kochi with 
Chennai).

5. Which one of the following is not correctly matched:

 (a) Shipki La - Himachal Pradesh

 (b) Lipulekh – Uttar Pradesh
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 (c) Nathu La – Sikkim
 (d) Zojila - Kashmir

U.P.P.C.S.(Pre) 2001
U.P.P.C.S. (Mains) 2014

Ans. (b)

Lipulekh Pass is located on India- China border in 
Uttarakhand not in Uttar Pradesh. 

6.  Which of the following is not correctly matched?  
 (a) Shipki La - Himachal Pradesh
 (b) Bomdi La - Arunachal Pradesh
 (c) Nathu La - Meghalaya
 (d) Zoji La  - Jammu & Kashmir

U.P.P.C.S. (Pre) 2017
Ans. (c)

See the explanation of the above question.

7.  Nathu La Pass is situated in which state ?
 (a) Arunachal  (b) Assam
 (c) Meghalaya (d) Sikkim

U.P.P.C.S. (Pre) 2006
Ans. (d)

Nathu La is a mountain pass in the Himalayan region 
situated at a height of 4404.36 m above sea level. On the 
Indian side, the pass is 55 km east of Gangtok, the capital 
of Sikkim and opens in Chumbi Valley in Tibet. Nathu La 
is one of the three open trading border posts between India 
and China. The others being Shipki La in Himachal Pradesh 
and Lipulekh in Uttarakhand. 

8.  Which of the following Passes lead to Leh?
 (a) Zozila (b) Shipki La
 (c) Chumbi Valley (d) Banihal

U.P.P.C.S. (Pre) 2016
Ans. (a)

Zozila Pass is a high mountain pass in Ladakh located on the 
Indian National Highway-1 between Uri and Leh.

9.  Which one of the following Himalayan Passes was 
reopened around the middle of the year 2006 to 
facilitate trade between India and China ?

 (a) Chang La (b) Jara La
 (c) Nathu La (d) Shipki La

I.A.S. (Pre) 2007
Ans. (c)

Nathu La pass was re-opened in 2006 following numerous 
bilateral trade negotiations after 1962 Indo-China War.

10.  Match List-I with List-II and select the correct answer  
using the code given below :

 List-I (Mountain Pass) List-II (State) 
 A.  Banihal  1. Himachal Pradesh
 B. Nathu La 2. Jammu and Kashmir
 C. Niti 3. Sikkim
 D.  Shipki 4. Uttaranchal 
 Code :
  A B C D
 (a) 2 1 4 3
 (b) 2 3 4 1
 (c) 4 3 1 2
 (d) 3 4 2 1 

U.P.P.C.S. (Mains) 2011
U.P.P.C.S. (Spl)  (Mains) 2004

Ans. (b)

The correct match is as follows :
(Mountain Pass)  (State)
Banihal    Jammu and Kashmir (Now UT)
Nathu La  Sikkim
Niti   Uttaranchal (Now Uttarakhand)
Shipki La  Himachal Pradesh

11.  Match List-I with List-II and select the correct answer 
using  the code given below the Lists :

  List-I  List-II 
  (Mountain Pass) (State) 
 A.  Bum La 1. Arunachal Pradesh
 B. Jelep La 2. Himachal Pradesh
 C. Muling La 3. Sikkim
 D.  Shipki La 4. Uttarakhand 
 Code :
  A B C D
 (a) 1 2 3 4
 (b) 1 3 4 2
 (c) 4 3 2 1
 (d) 3 1 4 2 
 U.P.P.C.S. (Mains) 2006
Ans. (b)

The correct match of Mountain Pass and the corresponding 
state is as follows.
Mountain Pass  - State
  Bum La  - Arunachal Pradesh
 Jelep La  - Sikkim
 Muling La  - Uttarakhand
 Shipki La  - Himachal Pradesh
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12. Match the list-I and List-II and select the correct 
answer using the code given below :

  List -I   List-II
  (Mountain Pass)  (State)
 A. Mana 1. Sikkim
 B. Nathu La 2. Jammu and Kashmir
 C. Zozi La 3. Himachal Pradesh
 D. Shipki La 4. Uttarakhand
 Code :
  A B C D
 (a) 2 3 1 4
 (b) 4 3 2 1
 (c) 4 1 2 3
 (d) 4 1 3 2

U.P.P.C.S. (Pre) 2016
Ans. (c) 

The correct match of the given Mountain Passes and States 
is as follows –
(Mountain Pass)  (State)
Mana  - Uttarakhand
Nathu La - Sikkim
Zozi La  - Jammu and Kashmir
Shipki La - Himachal Pradesh
Note : Zozi La Pass is situated in the Ladakh UTs.

13.  Which of the following is not a correct match ?
  Passes     State
 (a) Jelep La - Sikkim
 (b) Mana and Niti - Uttarakhand
 (c) Shipki La - Jammu and Kashmir
 (d) Bom Di La - Arunachal Pradesh

R.A.S./R.T.S. (Pre) 2016
Ans. (c) 

Shipki La is a mountain pass and border post on the Indo-
China border. It is located in Kinnaur district of Himachal 
Pradesh not in Jammu and Kashmir. Rest of the passes are 
correctly matched with their States.

14. Which one of the following (Passes – States/U.T.) is 
correctly matched?

 (a) Mana – Himachal Pradesh
 (b) Niti – Uttarakhand
 (c) Diphu – Ladakh
 (d) Aghil – Arunachal Pradesh

U.P.P.C.S. (Pre) 2023
Ans. (b) 

Correct matching  of  Passes and States/U.T. are as following :
 Mana - Uttarakhand
 Niti - Uttarakhand
 Diphu - Arunanchal Pradesh 
 Aghil - Ladakh

15.  Which one of the following passes is located in 
Uttarakhand ?

 (a) Jelep La (b) Lipulekh
 (c) Nathu La (d) Shipki

U.P.P.C.S. (Spl) (Mains) 2008
Ans. (b)

Jelep La is located in eastern Sikkim between India and 
Tibet. Lipulekh Pass is located in Pithoragarh district of  
Uttarakhand. It provides entry to Mansarovar lake through 
Kailash Valley. Nathu La is located in Sikkim whereas 
Shipki-la is located in Himachal Pradesh.

16.  Lipulekh Pass is situated in –
 (a) Jammu and Kashmir (b) Himachal Pradesh
 (c) Uttarakhand (d) Arunachal Pradesh
 (e) Western Ghats

Chhattisgarh P.C.S (Pre) 2013
Ans. (c)

See the explanation of the above question.

17. Which one of the following is not correctly matched ?
 (a) Nathu La - Arunachal Pradesh
 (b) Lipulekh - Uttarakhand 
 (c) Rohtang - Himachal Pradesh 
 (d) Palghat - Kerala 

M.P.P.C.S. (Pre) 2017
U.P. Lower Sub. (Pre) 2013

U.P. U.D.A./L.D.A. (Pre) 2010
U.P.P.C.S. (Pre) 2013

Ans. (a)

The correct order of Passes and related States is as follows:
Pass                 State
Nathu La - Sikkim
Lipulekh - Uttarakhand 
Rohtang  - Himachal Pradesh 
Palghat  - Kerala 

18.  Rohtang pass is located in – 
 (a) Himachal Pradesh (b)  Jammu and Kashmir
 (c)  Sikkim (d)  Uttarakhand

U.P. Lower Sub.(Pre) 2009
Ans. (a)

See the explanation of the above question.
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19. Mana Pass is located in –  
 (a) Uttar Pradesh 
 (b) Uttarakhand
 (c) Jammu & Kashmir 
 (d) Himachal Pradesh

Uttarakhand P.C.S. (Pre) 2010
Ans. (b)

Mana Pass is located in the Himalayan Region between 
India and Tibet. It is also known as Dungri La. It is located 
in Nanda Devi Biosphere Reserve, Uttarakhand Deotal lake 
is located in this pass, where river Saraswati, the tributary 
of Alaknanda originates.

20.  What are Kingri-Wingri, Neeti-Mana?
 (a) Passes (b) Rivers
 (c) Mountains (d) Religious places 

Uttarakhand P.C.S. (Pre) 2016
Ans. (a)

Kingri-Wingri, Neeti-Mana are passes located in 
Uttarakhand. Neeti is an important pass of Himalaya 
who connecting Uttarakhand to Tibet. Mana pass which 
is also called as Dungri La is located between India and 
Tibet. Deotal lake which is the source of Saraswati river 
(tributary of Alaknanda) is situated in this pass.

21.  Which of the following options represents correct order 
of mountain Passes from west to east 

 I.   Shipki La                   II.  Nathu La
 III. Bomdi La  IV. Lipulekh 
 Code :
 (a)  I, II, III, IV                      (b) II, III, IV, I
 (c)  I, IV, II, III                       (d) III, II, I, IV

U.P. Lower Sub. (Pre) 2009
Ans. (c)

The correct order of mountain Passes from west to east is 
Shipki La (Himachal Pradesh), Lipulekh (Uttarakhand), 
Nathu La (Sikkim) and Bomdi La (Arunachal Pradesh).

22.  The Pass, which is situated at the highest elevation, 
is

 (a) Zoji La (b) Rohtang
 (c) Nathu La (d) Khyber
 (e) None of the above/more than one of the above

64th B.P.S.C. (Pre) 2018
Ans. (e)

According to fi rst four options Nathu La is situated at the 
highest elevation. Nathu La is in Sikkim at an elevation of 
approximately 4404 m followed by Rohtang (Himachal 
Pradesh) 3978 m (approx.), Zojila (Ladakh) 3528 m (approx.) 
and Khyber (Pakistan) 1070 m (approx). But Yangzi Diwan is 
the India's highest Pass, since none of the above is also given 
as option. So, option (e) will be the right answer. 

vii. Snow Lines and Glaciers
*The altitude at a particular place above which some snow 
remains on the ground throughout the year is called a 
snowline. A glacier is a slowly moving mass or river of ice 
formed by the accumulation and compaction of snow on 
mountains or near the poles.
*Diff erent areas of the Himalayas have diff erent snowlines 
depending upon the diff erence in latitudes, relief, precipitation, 
slope and local topography. However, the average snowline is 
found between the height of 5500-6000 meters in the northern 
part of greater Himalayas and between 4500 - 6000 meters in 
the southern part of greater Himalayas. Approximately 40,000 
sq. km area of the middle Himalayas ranging from Karakoram 
in Ladakh to Arunachal Pradesh is covered with glaciers.

*The most important glaciers of Himalayas are located in the 
mountains of Great Himalayas and Trans Himalayas. Glaciers 
are found in the Karakoram, Ladakh and Zanskar ranges. 
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*The glaciers of lesser Himalayas are small in size, however, 
the Pir Panjal range provides evidence for big glaciers. The 
largest glacier of Pir Panjal range is Sonapani, which is 
situated in the Chandra Ghati of Lahul and Spiti district in 
Himachal Pradesh. *The Karakoram and Greater Himalaya 
consists of immense glaciers, Siachen (76.64 km), Hispar 
(61 km), Biafo (60 km), Baltoro (58 km), Sasaini (17.85 km) 
are some prominent ones. The Chorabari glacier is situated 
in the state of Uttarakhand at the district of Rudraprayag, 
Garhwal Himalaya region of the state of Uttarakhand, north 
of the famous temple of Kedarnath. The southern slope of this 
glacier is located to the north of the temple of Kedarnath at 
a distance of approx 4 km. Due to melting of the Chorabari 
glacier, a glacial lake was formed, known by the name of 
Gandhi Sarovar. *The Milam Glacier is located in the 
Kumaon region of Uttarakhand. It is the main glacier of the 
area and the source of River Sharda (Kali Ganga).

Glacier - which is larger Siachen or Sasaini
* According to UPPSC - Siachen (source - Geography of 
India, Ramchandra Tiwari).
* According to Allahabad Highcourt - Sasaini
Source - Bhautik Bhugol Ka Swaroop - Author Ravindra 
Singh
- Geography of India by V.S. Chauhan & Alka Gautam
- Geography of India by K. Bharadwaj
Now the books are efficient enough as a source for 
determining the measurement of the glaciers while sources 
based on real surveys are available regarding the length and 
area of glaciers.
Sources such as -
1. Records of the Geological Survey of India (Vol. 63)
2. World Glacier Inventory.

 Decoding to the records of Geological Survey of India-
1. Siachen (L-45 miles)
2. Sasaini - (L-11 miles).

 According to the Geological Survey of India (Vol. 63, Pg. 
- 260) - outside the poles the largest glacier is Fedchenko, 
situated in the Pamir Region, whereas Siachen is the second 
largest glacier. Even according to the various sources available 
on the internet Fedchenko is the largest glacier outside the polar 
region and Siachen is the second largest. Hence, according to 
this order Sasaini is way below in the table.

 According to World Glacier Inventory -
 Siachen - L - 76.64 km, area - 1056.42 km2

 Sasaini - L - 17.85 km, area - 33.51 km2.
 According to W.G.I. even Zemu and Gangotri glaciers are 

larger than Sasaini.
Hence the claim of Sasaini being a larger glacier than Siachen 
is debateful.

1.  The snow-line in Himalayas lies between
 (a) 4300 to 6000 meters in East
 (b) 4000 to 5800 meters in West
 (c) 4500 to 6000 meters in West
 (d) None of the above

39th B.P.S.C. (Pre) 1994
Ans. (a)

The altitude in a particular place above which some snow 
remains on the ground throughout the year is called snow 
line. The snowline in the Himalayas has diff erent heights in 
diff erent parts. On an average it has height of 5500 – 6000m 
in Northern Part  and 4500- 6000m in Sourthern Part of the  
Himalaya . In this way snowline in Himalayas lies between 
4300 m to 6000 m.

2. Siachen Glacier is situated to the:
 (a) East of Aksai Chin (b) East of Leh
 (c) North of Gilgit (d) North of Nubra Valley

I.A.S. (Pre) 2020
Ans. (d)

Siachen Glacier is located in the Eastern Karakoram range in 
the Himalayas, and it lies to the North of Nubra Valley. The 
Siachen glacier (highest battlefi eld in the world) demarcates 
central Asia from the Indian subcontinent, and seperates 
Pakistan and China in the region. The Saltoro Ridge of the 
Siachen glacier serves as a divide that prevents direct links 
of POK with China, preventing them to develop any military 
links on land.

3.  Which of the following is the largest glacier ? 
 (a) Siachen           (b)  Baltoro
 (c)  Chogo Lungma     (d)  Biafo

U.P.U.D.A./L.D.A. (Pre) 2013
Ans. (a)

The length of the above glaciers is as follows:
Glacier                            Length (km)
Siachen                         –                  76.64
Baltoro                          –                 63
Chongo Lungma           –      50
Biafo                             –                 60
In the above question, Siachen is the largest glacier. So option 
(a) is correct.
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